8 of 15 11 of 15 13 of 15 15 of 15 ;
B C
‘ Quantity A Quantity B
4 The circumference of a The perimeter of a
| circular region with radius r  square with side r 5
. . I
’ O Quantity A is greater.
A 3 D
; O Quantity B is greater. .
Quantity A Quantity B . N
O The two quantities are equal. In rectangle ABCD above, which of the following is
9 i ?
O The relationship cannot be determined from the f the area of the triangle ABD
information given. O 6
O Quantity A is greater.
7.
O Quantity B is greater. 0 5
9 of 15 0 10
Triangle ABC is contained within a circle with center O The two quantities are equal.
C. Points A and B lie on the circle. If the area of O The relationship cannot be determined from the 0 12
citrlch}e1 Cfish25;r,uand the measure of angle C is 60°, information given. 0 15
which of the following are possible lengths for the legs i i is 15
of triangle ABC ? The circumference of the C“ﬂe Wlt*};;“twerhﬁ l; e
. : i llelogram and ¢ = . §
Indicate all possible values. 12 of 15 ) Wof 15 f,’iﬁ\; 00 flsda?para 08
0l
’ A O 15w
Ll 4
O 91
J's O 3r
J6 B (z,9) O 2 .
b7 O Tt cannot be determined from the information
Click on your choice(s). A (2.3) given.
10 of 15
> I
9 0 v The circle above has a center O.
= £ BOC
’ - Given points A(2, 3) and B(z, ) in the rectangulal £ AOB .
e coordinate system above, if y = 4.2, then T = Quantity A Quantity 2
O 26 Th T}il ed a(rleje(g)ifoflhe
. ¢ area of triangle AOB shade
Quantity A Quantity B O 28
z 5.9 O 29 0 Quantity A is greater.
O 3.0 O Quantj i .
O Quantity A is greater. Quan ity B is greater
O Quantity B is greater © 52 O The tWo quantities are equal
) ' : the
O The two titi O The relationship cannot be determined from
g quantities are equal. information given.
‘ O tI‘he relaFionship cannot be determined from the
information given.
Geometry | 299
298 I Cracking the New GRE




Summary

o 'There may only be a handful of geometry
questions on the GRE, but vou'll be expected
to know a fair amount of rules and formulas.

o Line and angle problems cvpically test your
knowledge of vertical angles, parallel lines,
right angles, and straight angles.

o Triangles are a popular geometry topic on the
GRE. Make sure you know vour triangle basics, Cha ter 1 2
including the toral degrees of a triangle, the p
relationship between the angles and sides of a C
triangle, and the third side rule. Math Et etera

o Right triangle problems frequently test the

There are a few more math topics that may appear
Pythagorean theorem.

on the GRE that don't fit nicely into the prcccjding
chapters. This chapter Jooks at some of these lefrover

©  Be aware of the two special right triangles o e e
topics, including probability, permutations and com-

that ETS likes to torture test rakers with: the

45°-45°-90° triangle and 30°-60°-90° triangle. binations, and factorials. Thc Ntopics 1r?.thls d)lfptéf

are not essential to your GRE Math score, bcuu.sc

T e e o s for riangles, e these areas are not tested as frequently\ as thC.[()plCS
gles, squares, and circles. detailed earlier. However, if you feel confident w1t.h t.hc
previous math topics, and you're looking to maximizc

" Bquenty o oo g coneps your GRE Math score, this chapter will show you all

frequently test common geometry concepts
such as the area of triangle or square. Other
plane geometry questions will test you on slope
and the equation of a line.

you need to know to tackle these more obscure GRE

problems.

©  Slope is defined as rise over run. Find it by find-
ing the change in y-coordinates (the rise) and
the change in x-coordinates (the run).

o 'The equation of a line is y = mx + b, where xand
J are the coordinates of any point on the line, 7
is the slope and 4 is the y-intercept, the point at
which the line crosses the y-axis.

©  Don't forget to Plug In on geometry problems!

~ 300 | Cracking the New GRE




These topics show up
rarely on the GRE, but if
you're going for a very
high score, they are useful

to know.

There's no need to be
intimidated by probability
questions. If you can work
with fractions, you can
work with probability
questions!

302 | Cracking the New GRE

OTHER MATH TOPICS

The bulk of the GRE Math section tests your knowledge of fundamentals, basic
algebra, and geometry. However, there are a few other topics that may appear.
These “et cetera” concepts usually show up only once or twice per test (although
at higher scoring levels they may appear more frequently) and often cause anxiety
among test takers. Many test takers worry excessively about probability problems,
for example, even though knowledge of more familiar topics such as fractions and
percents will be far more important in determining your GRE math score. So
tackle these problems only after you've mastered the rest. If you find these con-
cepts more difficult, don’t worry—they won't make or break your GRE score.

PROBABILITY

If you flip a coin, what’s the probability that it will land heads up? The probability is
1
equal to one out of two, or > What is the probability that it won’t land heads up?
. : 1 1
Again, one out of two, or E If you flip a coin nine times, what's the probabxllt)’

o 1 .
that the coin will land on “heads” on the tenth flip? Still 1 out of 2, or —. Previous
flips do not affect the outcome of the current coin flip. 2

You can think of probability as just another type of fraction. Probabilities express a
special relationship, namely the chance of a certain outcome occurring. In a prob-
ability fraction, the denominaror is the total number of possible outcomes that
may occur, while the numerator is the number of outcomes that would satisfy the

criteria. For example, if you have 10 shirts and 3 of them are black, the probability

of selecting a black shirt from your closet without looking is el .

Think of probability in terms of fractions:

¢ Ifitis impossible for something to happen—if no outcomes satisfy

the criteria—then the numerator of the probability fraction is 0 and
the probability is equal to 0.

If something is certain to happen—if all possible outcomes satisfy
the criteria—then the numerator and denominator of the fraction are
equal and the probability is equal to 1.

If it is possible for something to occur, but it will not definitely occur,
then the probability of it occurring is between 0 and 1.

probablity =

number of possible outcomes that satisfy the condition

number of total possible outcomes

Let’s see how it wo

rks.

19 of

20

At a meeting of 375 members of a neighborhood

1 . . . -
association, 5 of the participants have lived in

the community for less than 5 years and 3 of the

attendees have lived in the neighborhopd for over

10 years. If a member of the meeting is selected at
random, what is the probability that the person has
lived in the neighborhood for more than 5 years but

less t

O

O

Here’s How to Crack It

In order to solve
The denominator

from which we are selecting. Ne
satisfy the criteria of having lived in t

han 10 years?

2
15
3
10
4

15

G loo I

i blem,
tohflSofz;ofraection is going to be 375, the total number of people

xt we need to figure out how many attendees
he neighborhood for more than 5 years but

fewer than 10 years.

we need to put together our probability fraction.

What number goes on the

bottom of the probability

fraction?

Math Et Cetera
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Probability of A and B
= Probability of A
x Probability of B

Probability of Aor B
= Probability of A
+ Probability of B

304 | Cracking the New.GRE

First, we know that 5 of the participants have lived in the neighborhood for less

than 5 years. gof 375 is 75 people, so we can take them out of the running. Also,

2
of the attendees have lived in the neighborhood for over 10 years. 3 of 375

(be careful not to use 300 as the total!) is 250, so we can also remove them from
consideration. Thus, if 75 people have lived in the neighborhood for less than
5 years and 250 have lived for more than 10, the remaining people are the ones we
want. 250 + 75 is 325, so thac leaves us with 50 people who satisfy the criteria. We

50
need to make 50 the numerator of our fraction, which gives us T=_. This reduces
2

to TE and answer choice (A) is the best answer.

Two Important Laws of Probability

When you want to find the probability of a series of events in a row, you multiply
the probabilities of the individual events. What is the probability of getting two
heads in a row if you flip a coin twice? The probability of getting a head on the

1 1 :
first flip is 2 The probability is also 5 that you'll get a head on the second flip, so

the combined probability of two heads is -;— X 1 » which equals L . Another way to
2
look at it is that there are four possible outcomes: HH, TT, HT, TH. Only one of

- 1 i
those outcomes consists of two heads in a row. Thus, ‘4‘ of the outcomes consist of
two heads in a row. Sometimes the number of outcomes is small enough that you
can list them out and calculate the probability that way.

Occasionally, instead of finding the probability of one event AND another event

happening, you'll be asked to find the probability of either one event OR another
event happening. In this situation, instead of multiplying the probabilities, you
add them. Let’s say you have a normal deck of 52 cards. If you select a card at ran-
dom, wixat’s the probability that you select a 7 or a 4? The probability of selecting
! 1

a7is 52 which reduces to 13 'The probability of selecting a 4 is the same; B

Therefore the probability of selccting a7ora4is —l— + i 2

13 13 13

Let’s look at a problem:

Julie is going to roll a pair of six-sided dice, one at
a time. What is the probability that she rolls a 3
and then a 4, OR a 5 and then a prime number?

Click on the answer boz, then type in a number. Backspace to erase.

Here's How to Crack It - _ R B,
Let’s start with the first possibility. The probability of rolling a 3 is 5 and the

probability of rolling a 4 is 1 So the probability of rolling a 3 and then a 4 is

l X 1L Now let’s look at the second possibility. The probability of rolling a
6 6 36

.1 ;
S is 1 and the probability of rolling a prime number is = . (There are six

2
outcomes when you roll a die and three of them are prime: 2,1 3, and 5. So the
, which reduces to — .) Therefore, the
1 1

. ic —X—=—_. So now we
probability of rolling a 5 and then a prime num ber is 6 % 2 12 °
ob-

.3
probability of rolling a prime number is 73

is — k the pr
know the probability of rolling a 3 and then a 4 is 36 and we know the p

1 ol
ability of rolling a 5 and a prime number is E To find the probability of one

of these things OR the other happening, we add the individual probabilities. So

1.1_4 1
2 3_6'—‘3'3 which reduces to 9

- A

hould know about probabilities is that the prob-

one last important thing you Sd the probability of an event not happening must

ability of an event happening an

ili i ight is —, then
add up to 1. For example, if the probability of snow falling on one nig 3

1 bability that it will rain is
the probability of no snow falling must be 3 If the pro

t be 20%. The reason this is use-
it will be easier to find the prob-
that, just subtract from 1 to find

80%, then the probability that it won't rain mus
ful is that, on some GRE probability prOblCmS’
ability that an event doesn’t occur; once you have
the answer,

Math Et Cetera

305



Since probabilities are just
fractions, they can also be
expressed as percents.
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Let’s look at the following example.

Dipak has a 25% chance of winning each hand of
blackjack he plays. If he has $150 and bets $50 a
hand, what is the probability that he will still have
money after the third hand?

1
64
3
16
27
O 64

37
64

O
3
O 1

O

O

Here's How to Crack It

If Dipak still has money after the third hand, then he must have won at least
one of the hands, and possibly more than one. However, directly calculat-
ing the probability that he wins at least one hand is tricky because there are 50
many ways it-could happen (for example, he could lose-lose-win, or W-W-L or
W-L-W or L-W-L, etc.). So think about it this way: The question asks for the
probability that he will win at least one hand. What if he doesn’t? That would
mean that he doesn’t win any hands ar all. If we calculate the probability that he
loses every hand, we can then subtract that from 1 and find the corresponding
probability that he wins at least one hand. Since Dipak has a 25% chance of

. ) 3
winning each hand, this means that he has a 75% chance of losing it, or -4- (the

answers are in fractions, so it’s best to work with fractions). To find the probability
that he loses all three hands, simply multiply the probabilities of his losing each
o 3.3.3 27

individual hand. " X " X i 64 5° there is a 2—2 probability that he will lose all

three hands, Subtracting this from 1

27 37
= 7R The answer is (D).

gives you the answer you're looking for.

Given events A and B, the probability of:
o Aand B = (Probability of A) x (Probability of B)
* A or B = Probability of A + Probability of B

Given event A:
. A+notA=1

FACTORIALS

The factorial of a number is equal to that number times every posiflve who.le numl-
ber smaller than that number, down to 1. For example, the factorial 9f16 -lslequz
©06%x5x4x3x2 x 1, which equals 720. The symbc{l for a fac4tor12; 1; .25(:< 1.
doesn’t mean we're really excited about the number 4, it means l>< o in’
which is equal to 24. (0! is equal to 1, by the way.) When f;;ctornz? ss "Fh ' }())im
GRE problems, always look for a shortcut like cancelmg o.r a-cmrl;%’s - c}))ne

of a factorial problem is not to make you do a lot of multiplication. Lets try one.

(v

8 of 20

Quantity A Quantity B
12! 4!
11! 2!
O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

O The relationship cannot be determined

from the information given.

Math Et Cetera
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Permutation problems
often ask for
arrangements, orders,
schedules, or lists.

308 t Cracking the New GRE

Here's How to Crack It
L'et’s tackle Quantity A. We definitely don’t want to multiply ourt the factorials
since that would be pretty time-consuming: 12! and 11! are both huge numbers.
Instead let’s look at what they have in common. What we're really talking about
hereis12><11><10><9x8><7x6x5x4x3x2xl
IIX10X9IX8X7X6X5%x4X3%x2x]1
to.rlals share everything from 11 on down to 1. The entire bottom of the fraction
will cancel and the only thing left on top will be 12, so the value of Quantity A
. . 2x1
e 2 a'nd the 1 in the bottom cancel, and the only thing left on top will be 4 x 3,
which is equal to 12. The two quantities are equal and the answer is (C).

. Now it’s clear that both fac-

is 12. For Quantity B, we can also write out the factorials and get

PERMUTATIONS AND COMBINATIONS

The basic definition of a permutation is an arrangement of things in a particular
order. Suppose you were asked to figure out how many different ways you could
f;;)an(g; ﬁvehsita'tues on a shelf, All you have to do is multiply 5 x 4 x 3 x 2 x 1, 0r
that. COCB tﬁllls l}j another application of factorials.) You have five possible statues

u the first slot on the shelf, then, once the first slot is filled, there are

four remaining statues that co
uld fill .
slot, and so on, down to one, the second slot, three that could fill the third

vlji(l)lwg(i?gpg(:)slz tx}rllitd;llle:}eleare fve Pel(:ple running in a race. The winner of the race

the person who COme,s in fher S(;m v;/ o comes in second will get a silver medal, and

how many different orders lfr \11:11 l.get a bronze medal. You're asked to figure out

this is a permutation b ot go ’Sll"ef‘bror}ze winners there can be. (Notice that
permutation because the order definitely matters.)

o i
f the;in; Fcomes in first, she’s out of the picture
second? Four. O i ’
. nce one ().f them comes in secon. , she’s out of the picture, so how
oy of th (ga\ln come in third? Three. And now you're done because all three
cen filled. The answer is 5 x 4 x 3, which is 60

so how many can then come In

To solve a permutation

. .
Figure out how many slots you have.

Write down the number of optj
Multiply them ot options for each slot.

The difference between a permutation and a combination is that in a combination,
the order is irrelevant. A combination is just a group, and the order of elements
within the group doesn’t matter. For example, suppose you were asked to go to the
store and bring home three different types of ice cream. Now suppose that when
you got to the store, there were five flavors in the freezer——chocolate, vanilla,
strawberry, butter pecan, and mocha. How many combinations of three ice cream
flavors could you bring home? Notice that the order doesn’t matter, because bring-
ing home chocolate, strawberry, and vanilla is the same thing as bringing home
strawberry, vanilla, and chocolate. One way to solve this is the brute force method;

in other words, write out every combination.

VCS VCB VCM VSB VSM VBM CSB CSM CBM SBM

That’s 10 combinations, but there’s a quicker way to do it. Start by filling in the
three slots as you would with a permutation (there are three slots because you're
supposed to bring home three different types of ice cream). Five flavors could be in
the first slot, four could be in the second, and three could be in the third. So far,
that’s 5 x 4 x 3. But remember, this takes into account all the different orders that
three flavors can be arranged in. We don’t want that, because the order doesn’t
matter in a combination. So we have to divide 5 x 4 x 3 by the number of ways of

arranging three things. In how many ways can three things be arranged? That’s 3!,
5x4%3

S 0
3x 2 x 1, which is 6. Thus we end up with Ix2xl’ which is equal to o or 10.

Bingo.
~ N

To solve a combination

*  Figure out how many slots you have. '
*  Fill in the slots as you would a permutation.
*  Divide by the factorial of the number of slots.

The denominator of the fraction will always cancel out completely, so you

can cancel first before you multiply. : .

Combination problems
usually ask for groups,
teams, or committees.

Does the order matter?

Math Et Cetera
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Always cross off wrong
answer choices on your

scratch paper.
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Here’s an example:

15 of 20

Brooke wants to hang three paintings in a row on
her wall. She has six paintings to choose from. How

many arrangements of paintings on the wall can she
create?

O 6
30
90

120

o O O O

720

Here's How to Crack It

’.Ihe first thing you need to do is determine whether the order matters. In this case
1th d(l)cfs, because we’re arranging the paintings on the wall. Putting the Monet on
\t/ e eG t and the Van Gogh in the middle isn’t the same arrangement as putting the
an ogh on the left and the Monet in the middle. This is a permutation ques-
t610n.' We have three slots to fill because we're arranging three paintings. There are
paintings that could fill the first slot, 5 paintings that could fill the second slot,

and 4 paintings that could fill the third slot. So we have 6 x 5 x 4, which equals
120. 'Thus, the correct answer is (D). ’

Here’s another example:

=
7 of 20
A pizza may be ordered with any of eight possible
toppings.
Quantity A Quantity B

The number of different ways The number of different ways
to order a pizza with three to order a pizza with five
different toppings different toppings

O Quantity A is greater.

O Quantity B is greater.

O The two quantities are equal.
@

The relationship cannot be determined
from the information given.

Here’s How to Crack It
First, note that for both quantities we're dealing with a combination, because the

order of toppings doesn’t matter. A pizza with mushrooms and pepperoni is the
- 2 1
same thing as a pizza with pepperoni and’ mushrooms. Let’s figure out Quantity

A first.

picking three of them. That means we have

We have eight toppings and we're
three slots to fill. There are 8 toppings that could fill the first slot, 7 that could fill
¢ have 8 x 7 x 6. Since this is

the second slot, and 6 that could fill the third, so wi '

a combination, we have to divide by the factorial of the number of slots. In this
case we have three slots, so we have to divide by 3, or 3 x 2x 1. So our problem
8x7x6
3x2x1
6 on top will cancel with the

. - . b
. To make the mulriplication easier, let’s cancel first. The

looks like this:

8x7 .
3 x 2 on the bottom, leaving us with —1——, which is

56. Thus, there are 56 ways to order a three-topping pizza with eight toppings to
choose from. Now let’s look at Quantity B.

but this time we’re picking five of them so we have
that could fill the first slot, 7 that could fill
5 that could fill the fourth, and 4 that
4, but we still have to divide by the

We still have eight toppings,
five slots to fill. There are 8 toppings
the second slot, 6 that could fill the third,
could fill the fifth. That's 8 x 7 X 6 X 5 X
factorial of the number of slots. We have five slots, so that means we need to
§x7X6X5%4 ,
. We definitely

BX/XO6XI7 7
divide by 5!, or 5 x 4 x 3 x 2 x 1. Thus we have 5x4x3%x2X1

. iplication. The 5 on to
want to cancel first here, rather than doing all that multiplication P

Math Et Cetera
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will cancel with the 5 on the bottom. Likewise, the 4 on top will cancel with the
4 on the bottom. The 6 on top will cancel with the 3 x 2 on the bottom, leaving

X
us again with - which is 56. Therefore, there are also 56 ways to order a five-

topping pizza with eight toppings to choose from. The two quantities are equal,
and the answer is (C).

Let’s try one more:

19 of 20

Nicole needs to form a committee of 3 from a group
of 8 research attorneys to study possible changes to
.the Superior Court. If two of the attorneys are too
experienced to serve together on the committee.

h(?w many different arrangements of committees can
Nicole form?

O 20
O 30
O 50
O 56
O 336

Here’s How to Crack It
This problem is a little more co

lem, because an extra condition
condition,

calculate h
from.

mplicated than an ordinary combination prob-
_ has been placed on the committee. Without that
this would be a fairly ordinary combination problem, and we’d simply
Ow many groups of three can be created with eight people to choose

3
There’s more than one way to
ize that there are two ways that
three experienced attorneys,

Inexperienced attorney. If we
possibilities,

approach this problem. First, you should real-
we could form this committee. We could have
or we could have two experienced attorneys and one
find the number of ways to create each of those tWo0

we ¢ . oht-
an add them together and have our answer. It's fairly straight

forward
o .calculatc the number of ways to have three experienced attorneys
on a committee: There are thre

slot, 5 for th e slots to fill, and we have 6 options for the first
» 2 for the Sccogd, and 4 for the third. Here the order doesn’t matter, SO We
divide by 3! to get X5x4
ing th 3Ix2x1
using thr :
. eﬁicn CZ experienced attorneys. What about creating a committee that has two
perienced attorneys and one inexperienced attorney? We have 6 options for the

= 20. Thus there are 20 ways to create the committce

first experienced attorney and 5 options for the second. Order doesnt matter so we

6X5 '
. Next we have 2 options for the inexperienced

2x1  6x5 2

attorney, so now we have to multiply by 2, and our calculation is X1 X 1° 30.

divide by 2!. So far we have

As you can see, there are 30 ways to create the committee using two experienced
attorneys and one inexperienced attorney. Adding 20 and 30 gives us 50 total

committees, and the answer is (C).

Here’s another way that you could solve the problem. If tgere were no conditions
8x7 X

placed on the committee, we could just calculate 3x2x1’ which would give us

56 committees. But we know some of those committees are not allowed; any com-

. . 3
mittee that has the two inexperienced attorneys on it isnt allowed. How many of

these types of commirtees are there? Let’s call the inexperienced attorneys A and
hich the last slot could be filled by

B. An illegal committee would be AB _, in w. _
any of the experienced attorneys. Since there are 6 experienced attorneys, there are
Gillegal committees. Subtracting them from 56 gives us 50 legal committees. Hey,

the answer’s still (C)!

FUNCTIONS AND FUNNY-LOOKING SYMBOLS

The GRE contains “function” problems, but they aren’t like the f'unctlon; tlllat yOE
may have learned in high school. GRE functions us.e funny-!ooklng SY“" o Sf’ :;li‘t:h_
as @, *, and #. Each symbol represents an arithmetlf; operation or ;lserle;{ ore,S *
metic operations. All you have to do is follow directions in the problem. He

example:

/U————’/

5 of 20 1
For any non-negative integer I, let ¥ = 2 -
uantity A uantity B
Y
3* 3

O Quantity A is greater.
O Quantity B is greater.

(O The two quantities are equal.

onship cannot be determined

O The relati
ven.

from the information gi

With funny-looking
symbols, simply follow
the directions.
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313



You might see one group
problem on the GRE.
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Here's How to Crack It 14
Just follow the directions—15* = 15 — 1, or 14, and 3* = 3 = 1, or 2. So we get Py

1
or 7, in Quantity A. Don’t forget PEMDAS for Quantity B. First, ;5 is 5. Then,

5% =5-1, or 4. So because Quantity A is 7 and Quantity B is 4, the answer is (A).
Function questions aren’t scary if you follow the directions. Be sure to write every-
thing down on your scratch paper. By the way, these funny-looking symbols don’t
necessarily indicate exponents, but you'll always be rold what they mean.

T

GROUPS

Group problems, although not too common on the GRE, can be troublesome if
you don’t know how to set them up. When confronted by a group problem, use
the group equation

T=G1+G2—B+N

In.the equation, T represents the Total, G, is one group, G, is the second group;
B is for the members in both groups and N is for the members in neither group:
Here’s an example of a typical group problem.

14 of 20

A biologist studying breeding groups noted that of
?25 birds tagged for the study, 85 birds made nests
In pine trees, 175 made nests in oak trees, and 40
birds did not build nests in either type of tree. How
many birds built nests in both types of trees?

O 45
O 60
O 15
O 80
O 125

Here's How to Crack It |
Let’s use the group equation. The total is 225, one group consists of 85 birds, the
other group has 175 birds in it, and we know that 40 birds built nests in neither

type of tree. Our equation would look like this:
225=85+175-B +40

All we have to do is solve for B. Simplifying the equation gives us 225 = 300 — B,
so B must equal 75. Choice (C) is our answer.

O
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Et Cetera Drill

Here are some math questions to practice on. Remember to check your answers when you finish. You can find the

answers in Part V.

1 of 10

15 marbles are placed in a bowl; some are red, and
some are blue. If the number of red marbles is 1
more than the number of blue marbles, what is the

probability that a marble taken from the bowl is blue?

1
o =
15
o 2z
15
o L
15
1
O =
2
o 8
15
2 of 10

If ¥(z) = 10z - 1, what is ¥(5) - ¥(3) 7
O 15

O 18
O 19
O 20
O 46
3 of 10

Quantity A Quantity B

The largest prime

The largest odd factor of 78 factor of 78

O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

C The relationship cannot be det
information given.
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ermined from the

4 of 10

At a recent dog show. there were 5 finalists. One of
the finalists was awarded “Best in Show” and another
finalist was awarded “Honorable Mention.” In how
many ways could the two awards be given out?

Click on the answer bor. then type in a number.
Backspace to erase.

5 of 10

Company X spends $40.000 per vear on advertising
for product 4 and $30.000 per vear on advertising
for product B. The company spends $15.000 on
advertisements that advertise both product A and B
as a system. The company spends $90,000 total on
advertising for all of its products.

Quantity A Quantity B
The total amount the
company spends advertising $20,000

products other than products
A and B.

O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

O The relationship cannot be determined from the
information given.

6 of 10

Lee randomly selects a 2-digit prime number less than
50. What is the probability that the tens digit is
greater than the units digit?

3
0=
14
3
0=
11
3
02
8
1
0 =
2
.
11
7of 10

An elected official wants to take five members of his
staff to an undisclosed secure location. What is the
minimum number of staff members the elected official
must have in order to have at least 20 different

groups from which to choose?

O 7
O 8
O 9
O 10
O 1n
8 of 10

For all real numbers z and yp,ifz#y= Hz - ),

then 3 4 (2 # y) =

O 2 g
Olz—Zzy
Of-:ﬁ—my
02— (ayp
Olz‘l“q‘+12y

9 of 10

A jar contains 12 marbles. Each is either yellow or
green and there are twice as many yellow marbles
as green marbles. If two marbles are to be selected
from the jar at random, what is the probability that
exactly one of each color is selected?

8
O =
33
16
o =
33
1
O =
2
17
o =L
33
25
o =2
33
10 of 10

A set of 10 points lie in a plane such that no three
points are collinear.

Quantity A

The number of distinct
triangles that can be created
from the set

Quantity B

The number

of distinct
quadrilaterals that
can be created from
the set

(O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

O The relationship cannot be determined from the
information given.

Math Et Cetera
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Comprehensive Math Drill

Let’s do a drill involving all of the math topics we've covered throughout the book. Remember to check your answers

when you finish. You can find the answers in Part V.

1 of 20
005_
0.6 .18
Quantity A Quantity B
z .015

O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

O The relationship cannot be determined from the
information given.

2 of 20
z =0
Quantity A uantity B
z
< 5
10 2

O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

QO The relationship cannot be determined from the
information given.
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3 of 20

The test scores for a class have a normal

distribution, a mean of 50, and a standard deviation
of 4.

Quantity A Quantity B
Percentage of scores at or Percentage of scores
above 58 at or below 42

O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

O The relationship cannot be determined from the
information given.

4 of 20

~

0 RN\

The line y = —%x + 1 is graphed on the

rectangular coordinate axes.

Quantity A Quantity B
OR oP

O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

O The relationship cannot be determined from the
information given.

3 of 20

At a dog show, there are 20 judges and 10 dogs in
the final round.

Quantity A Quantity B
The number of distinct pairs The number .Of ;
of judges possible rankings 0

dogs from first to
third place

O Quantity A is greater.
O Quantity B is greater.

O The two quantities are equal.

i the
O The relationship cannot be determined from

Information given.

6 of 20
k-0
1> 1
Quantity A Quantity B
L M
1
2 e

O Quantity A is greater.
O Quantity B is greater.
O The two quantities are equal.

O The relationship cannot be determined from the
information given.

7 of 20

Quantity A Quantity B
i 7

O Quantity A is greater.
O Quantity B is greater.
(O The two quantities are equal.

(O The relationship cannot be determined from the
information given.

8 of 20

Joe has $200. If he buys a CD player for $150, what

is the greatest number of CDs he can buy with the
remaining money if CDs cost $12 each?

Click on the answer boz, then type in a number.
Backspace to erase.
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9 of 20

Y
A
4 —
3 —
2 ——
1] ——
| || B_|
rop I Tcr T 1T ~F
—+ 1 2 3

What is the area of triangle ABC in the figure above?
O 2

O 4

O a2

o7

O 8
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10 of 20

Which of the following could equal 10(3” - 2) divided
by a positive integer?

Indicate all possible values.

O 140

0 70

0 35

10

oo
Click on your choice(s).

11 of 20

Roberta drove 50 miles in 2 hours. Her rate in miles

per hour is equivalent to which of the following
proportions?

Indicate all possible values.
U 5 to0 20
0J 100 to 4
O 400 to 16
U 20 to 500

Click on your choice(s).

Questions 12 through 14 refer to the following graph.

TEMPERATURES OF U.S. CITIES IN
YEARS XAND Y

120
110 AN /
//\ //\
4 \
) \
100 II 17 \ ’/ \\
[/ /’ \/
90
(I
80
70
b
60
50
40
30
20
10
0
~ A SN I
$§fé§e€7§%v0§
¢ o &N F T YIS
FEFSFEFTISFSS
$ §SF ¥ S5 8 0 5 £
FFTUS ¢ " FsE”
Y R ~ 5‘% &
S 5

| Average Temperature for Years X and Y
"*=- High for Year Y
= High for Year X

12 of 20

For how many of the cities shown was the highest
temperature in Year Y greater than or equal to the
highest temperature in Year X 7

O 4
O 5
O 7
O 8
O 12
13 of 20

What is the approximate percent ‘increase from the
lowest average temperature for Years X and Y to the
highest average temperature?

O 60%
O 82%
O 140%
O 188%
O 213%
14 of 20

If the average temperature for Years X and Y in
Baltimore is equal to the average of that city’s high
and low temperatures for each of those years, then
what is the average of the low temperatures for
Baltimore in Years X and Y ?

O -9°F
O 1°F
O 20°F
O 44°F

O Tt cannot be determined from the information

given.

Math Et Cetera

N



15 of 20

If 122 - 3] + 2 > 7, which of the following could be
the value of z 7

Indicate all possible values.

0 -4

0 -3

0l -2

U1

0o

01

Ll 2

L3

Click on your choice(s).

16 of 20

If 2, y, and 2 are consecutive odd integers where

r<y<zand T+ y + 2 < z then whch of the
following could be the value of z ?

Indicate all possible values.

o -3

O 0O 0o

Click on your choice(s).

17 of 20
If 4 = 1024, then (47+1) (5:-1) =

O 108

O (59
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13 of 20

What is the greatest distance between two vertices of
a rectangular solid with a height of 5. a length of 12,
and a volume of TR0?

12

1242

13

132
133

O

Q

O O O

19 of 20

Six children. three boys and three girls. sit in a row
on a park bench. How many arrangements of children

are possible if no boy can sit on either end of the
bench?

Indicate all possible values.

O 46.656
0 38.880
O 1.256
U 144
4 38
Click on your choice(s).
20 of 20

If 16 is the average of p. 24. and ¢. what is
16(p + ¢) 7

N
/

O 180
O 192
O 384
O 524
O 768

Summary

o  Topics such as probability, permutations and
combinations, factorials, and functions repre-
sent only a small percentage of the math topics
tested on the GRE. Make sure you've mastered
all the more important topics before attempting
these.

o  Probabilicy is expressed as a fraction. The
denominator of the fraction represents the total
number of possible outcomes, while the numer-
ator stands for the desired outcomes.

o If a probability question asks for the.chance of
event A or event B, find the probability of ez.tch
event and add them together. If the question
asks for the probability of event A and event B,
multiply the individual probabilities.

: . S
o  The key to factorial problems is to look for way
to cancel or factor out terms.

. . d
0  Permutations and combinations are relate

i n
concepts. A permutation tells you how ml ly
i i e.
arrangements or orderings of things are possi y
s
A combination tells you how many grouping

things are possible.

o  Function problems use funny looking symb(’lz
as shorthand for the operations t0 perform on

certain number.

: . Total = Group I
0  The group equation Iis:
+ Grcg)up II — Members of Both Groups +
Members of Neither Group.

Math Et Cetera
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Chapter 13

The Geography of the
Critical Thinking and
Analytical Writing

Section

This chapter clues you in on everything you've ever
wanted to know about the Critical Thinking and
Analytical Writing sections of the GRE. It contains
important information on how the essays are used
by graduate schools, the scoring system ETS graders
use to evaluate your essays, and the crucial distinc-
tions between the issue essay and the argument essay.
This chapter also looks at the basic word-processing
program used by ETS.



i
4
i
3
1
|
i
i
i

Even if your program
doesn't care much for the
essay, a poor score might

still raise a red flag.

What you write—the
content—will be
weighted more than
how you write.
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ESSAYS AND THE GRE

The (?ritical Thinking and Analytical Writing section of the GRE requires you
to write two essays—one will be an analysis of an issue and the other will be an

analysis of an argument. You will have 30 minutes each for both the Issue and
Argument essay.

In the past, ETS has had problems with test takers relying on preplanned essays.
The‘ essay questions have been reformulated to reduce the possibility of testers pre-
paring their essays in advance. However, while you may not be able to plan your

entire essay in advance, you can still go into your test session having a good idea of
S
what type of essay you're going to write.

How Do Schools Use the Writing Assessment?

First, the essays are probably more important for international students and those
for whom English is not a first language. If you are not a native English speaker,
expect your essay score and the essays you wrote to receive more attention. (ETS
also makes the essays available to schools, which may choose to read them or not)
Second, and not surprisingly, the essays will probabl;' be weighted more heavily by
PrograrTls for which writing is a frequent and necessary task. A master’s program
in 'a[?phed mathematics might not care so much about your 30-minute written
opinion about whether or not it’s necessary for a person to read imaginative litera-
ture, but a program in creative writing probably would.

ilglmf tel¥1lth°ugh’ the most honest answer to this question is: It depends. Some
ools will not care at all about the Crirical Thinking and Analytical Writing
score, 'whde f)thers will say that they only want applicants who scored a 5 or higher
Zn this section. Call.the schools you're interested in and talk to people in the
epartment. By finding out how important your target schools consider the

Analytical Writi i
riting section, you'll be abl i i f
e to determine the appropriate amount 0
effort to devore to it. P

Regardless .
+ fse "y of your target score on this section, you should ar least read through
e apters to get a better sense of what ETS is looking for. You'll have to write
ss
2ys, so no matter what, you want to do a decent job. You'll find that

writing high-scoring e i

ssays is not as hard as it ’ hown
. m een sho
how to do it. seem oneeyore b

How Will the Essays Be Scored?
Your essays will be read by two graders, |

1 to 6y
based on how well you do the following:

and each will assign a score from

. . .
follow the instructions of the prompt

consi .
o su‘icr the complexities of the issue or argument
eftectively organize and develop your ideas

«  support your position with relevant examples
«  control the elements of written English

The grades you receive for each essay will be totaled and averaged. For example,
if you receive a 4 and a 5 on your issue essay and a 3 and a 4 on your argument
essay, your Analytical Writing score will be a 4.0; 16 total points divided by 4
scores. If the graders’ scores for your essays differ by more than one point, a third
person will be brought in to read the essay. The graders use a “holistic” grading
system; they're trained to look at the big picture, not to focus on minor details.
Your essay is not expected to be perfect, so the graders will overlook minor errors
in spelling, punctuation, and grammar. However, pervasive or egregious €rrors

will affect your score.

Here are ETS’s descriptions of the scoring levels:

Issue Essay Argument Essay

An essay that scores a 6 pres-
ents a cogent, well-articulated
critique of the argument and
conveys meaning skillfully.

An essay that scores a 6 pres-
ents a cogent, well-articulated 6
critique of the issue and con-
veys meaning skillfully.

An essay that scores a 5 pres-
ents a generally thoughtful,

well-developed critique of the
argument and conveys mean-

An essay that scores a 5 pres-
ents a generally thoughtful,

5| well-developed analysis of the 5
complexities of the issue and

conveys meaning clearly. ing clearly.

An essay that scores a 4 pres-

An essay that scores a 4 pres- a
ents a competent critique of the

4| entsacompetent analysis of 4
the issue and conveys meaning argument and conveys mean-
adequately. ing adequately.

An essay that scores a 3 demon-
strates some competence in its

3| critique of the argument and in_
conveying meaning but is obvi-

An essay that scores a 3 dem-
onstrates some competence in
3| its analysis of the issue and in
conveying meaning but is obvi-

ously flawed. ously flawed.

An essay that scores a 2 dem-
2 | onstrates serious weaknesses in

analytical writing.

An essay that scores a 2 dem-
2| onstrates serious weaknesses i1
analytical writing.

[ A
An essay that scores a 1 demon-
1| strates fundamental deficiencies

An essay that scores a 1 dem-
1| onstrates fundamental deficien-

in both analysis and writing,

Lcies in analytical writing skills.

b

e

i i ive a score of 0.
An essay written on a topic other than the one provided will receive a

The Geography of the Critical Thinking and Analytical Writing Section
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ETS graders spend less
than two minutes
grading your essay.

Make the graders’ jobs
easy. Give them exactly
what they re looking for.

Who Are These Readers Anyway?

We'll put this in the form of a multiple-choice question:

Your essays will initially be read by
(A)  captains of industry
(B)  leading professors
(C)  college TAs working part time

If you guessed (C), you're correct. Each essay will be read by part-time employees
of ETS, mostly culled from graduate school programs.

How Much Time Do They Devote to Each Essay?

The short answer is: not much. It is unusual for a grader to spend more than two
minutes grading an essay, and some essays are graded in less than a minute. The
graders are reading many, many GRE essays and they aren’t going to spend time
admiring thart clever turn of phrase you came up with. So don’t sweat the small

stuff—it probably won’t even be noticed. Focus on the big picture—that’s what
the graders will be focusing on.

So How Do You Score High on
the Analytical Writing Essays?

On the face of it, you mighe think it would be pretty difficult to impress these

jaded readers, but it turns out that there are some very specific ways to pcrsuade
them of your superior writing skills.

What ETS Doesn’t Want You to Know

In a recent analysis of a group of essays written by actual test takers, and thCl
grades that those essays received, ETS researchers noticed that the most successfu

essays had one thing in common. Which of the following characteristics do you
think it was?

Good organization
Proper diction
Noteworthy ideas
Good vocabulary
Sentence variety

* Length

What Your Essay Needs in Order to
Look Like a Successful Essay

The ETS researchers discovered that the essays that received the highest grades
from ET'S essay graders had one single factor in common: length.

To ace the Analytical Writing section, you need to take one simple step: \X/rit;
as much as you possibly can. Each essay should include at least four indente
paragraphs. Your Issue essay should be 400 to 750 words in length, and your

Argument essay should be 350 to 600 words.

So All | Have to Do Is Type I Hate the GRE”
Over and Over Again?

Well, no. The length issue isn’t that easy. The ETS researchers leo 'no[tscc;l (;:::;S?:;
surprisingly, the high-scoring essays all made .reasonably goo hp:;l:a D
the topic. So you have to actually write something that cov;(ris (ti cth t}):an Pbréad(h,
in your quest for length, it’s more important that you a | e}i’ e thoroughly
What this means is that it’s better to have a few good examples t a: :(; thor efam-
and deeply explored than it is to add lt?nfgth by tackfmlg IT(ZT soerficial list of
ples and paragraphs onto your essay until it starts to feel li p

bulleted points rather than a thoughtful piece of writing.

Read the Directions Every Time The instructions we
You should read the directions for each essay pr(;lmPtI-]es ou will see on the
provide here for each essay task are not necessarlly,t ¢ :norizye any particular set
GRE. Directions can vary in focus, so you shouldn’t m/c e s complete lst of
of instructions. Visit the ETS website at ww_w.ets.cg;isg s really get to sec this
all the potential essay topics and direction v ariants di . yto the different instruc-
information in advance of the test!) Practice rCSponntmfomptS. Be sure to mix it
tions, combined with a variety of issue and arg}l: mgTszvebsite are not necessarily
up; the prompt/directions pairings you S¢€ o o h a variety of these essays will
the duos you will see on the real test. Practicing wit

n test day.
prepare you for whatever comes your way o 4

The Geography of the Critical Thinking and Analytical Writing Section | 331
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Oh, Yes, You Can Plan Your Essays in Advance

In fact, there are some very specific ways to prepare for the essavs that go beyond
length and good typing skills. So how can you preparc ahead of time?

Creating a Template

When a builder builds a house, the first thing he does is construct a frame. The
frame supports the entire house. After the frame is completed. he can nail the
walls and windows to the frame. We’re going to show you how to build the frame
for the perfect GRE essay. Of course, you won't k[:xow the exact topic of the
essay until you get there (just as the builder may not know what color his client is
going to paint the living room), but you will have an all-purpose frame on which

to construct a great essay no martter what the topic is. We call this frame the
template.

Preconstruction

Just as a builder can construct the windows of a house in his workshop weeks

b . .
efore he arrlves. tf‘) install them, so can you pre-build certain elements of your
essay. We call this “preconstruction.”

In the ’ .
next two chapters we'll show you how to prepare ahead of time to write
essa ; ; .
ys on two topics that you won't see until they appear on your screen.

ISSUE VERSUS ARGUMENT ESSAY

It is wor ; L
th noting ar this time that the essay section gives you two very distinct

writing tas i i .
g tasks, and thar a failure to appropriately address the question tasks will
severely reduce your score.

The Issue Essay

The Issue essay asks for your opinion;
a pa'rticular topic and support that v
Ing 1s one example of the instructions

you're expected to present your viewpoint ot
iewpoint with various examples. The follow-
for the Issue essay:

You .will be given a brief quotation that states or
}mphes an issue of general interest and specific
1£15truc.t10ns on how to respond to that issue.
You will have 30 minutes to plan and compose

a response in which you develop a position on
the issue according to the specific instructions. A

res t . )
zerpOnse to any other issue will receive a score of
0.

Make sure that you respond to the specific
instructions and support your position on the issue
with reasons and examples drawn from such areas
as your reading, experience, observations, and/or
academic studies.

Note how important it is to specifically address the assignment provided as part of
the Issue prompt; not following ETS’s directions will make your grader unhappy

and result in a poor score on the essay.

The Argument Essay

The Argument essay requires a different type of response. Instead of presenting

. . o . b k]
your own perspective, your job is to critique someone else’s argument. You're sup-

posed to address the logical flaws of the argument, not provide your personal
opinion on the subject. The following is one example of the directions for the

Argument essay:

You will be given a short passage that presents

an argument, or an argument to be completed,
and specific instructions on how to respond to
that passage. You will have 30 minutes to plan
and compose a response in which you analyze the
passage according to the specific instruct%ons. A
response to any other argument will receive a score

of zero.

OT being asked to present

ect. Make sure that you
uctions and support your
d/or examples.

Note that you are N
your own views on the subj
respond to the specific instr
analysis with relevant reasons al

ogical analysis of the argu-

In the Argument essay, the emphasis is on writing a 1 i
hat you don’t confuse the

ment, not an opinion piece. It is absolutely essential t

two essay tasks on the GRE.

HOW DOES THE WORD-PROCESSING
PROGRAM WORK?

ETS has created a very simple progra
essays on the screen. Compared to any ©
grams, this one is extremely limited, but it does allow th
move the cursor with the arrow keys, and you can delete,
a computer novice, don’t worry. You don’t have to use any o
just the backspace key and the mouse 0 change your point © nse
be able to use the computer like a regular word-processing program.

m that allows students to compose their
£ the commercial word-processing pro-
e basic functions: You can
copy, and paste. If you're
f these functions. With
f insertion, you will

The Geography of the

ETS graders don't expect a
perfect essay; occasional
spelling, punctuation,

and grammar errors won't
kill your score.

Critica Thinking and Analytical Writing Section
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Take a look at the image below to see what your screen will look like during the
Analytical Writing section of the test:

GRE® Practice Test Section 10of 5

A community should first and foremost
educate its citizens m how to properly and
the commuruty as a whote

“Write a response in which you discuss the
extent to which you agree er disagree with
the claim in developing and supporting
your position, be sure 10 address Lhe most
compelling reasons or examples that could
be used to challenge your position

The question will always appear at the top of your screen. Below it, in a box, will
be your writing area (in the writing area above, you can see a partially completed
sentence). When you click inside the box with your mouse, a winking cursor will
appear, indicating that you can begin typing. As we said above, the program sup-
ports the use of many of the normal computer keys:

The “Backspace” key removes text to the left of the cursor.

The “Delete” key removes text to the right of the cursor.

The “Arrow” keys move the cursor up, down, left, or right.

'The “Home” key moves the cursor to the beginning of a line.

'The “End” key moves the cursor to the end of a line.

The “Enter” key moves the cursor to the beginning of the next line.
“Page up” moves the cursor up one page.

“Page down” moves the cursor down one page.

You can also use the icons on the right of the screen to copy and paste words,
sentences, or paragraphs. To do this, you first have to highlight the desired text
by clicking on the starting point with your mouse and holding down the mouse
button while you drag it to the ending point. Then click on the “Cut” button-
This deletes the text you've selected from the screen, but also stores it in the com”
puter’s memory. Next, just move the cursor to wherever you would like the selected

text to reappear, and click on the “Paste” button. The selected text will appeat 1%
that spot.

1 H : « » . : Lo

If you make a mistake, simply click on the “Undo” button, which will undo wha
. , t

ever operation you have just done. You can undo a cut, a paste, or even the last s€
, . . s
of words you've typed in. Unfortunately, unlike many word-processing prograr®

ETS’s program does not have a2 “Redo” button, so be careful what you decide ©
undo.

Obviously, the small box on the screen is not big enough to contain your entire
essay. However, by hitting the “Page up” and “Page down” keys on your keyboard,
or by using the arrows on your keyboard, you will be able to go forward and back-
ward to reread what you have written and make corrections.

Does Spelling Count?
Officially, no. The word-processing program doesn’t have a spell checker, and ETS
essay readers are supposed to ignore minor errors of spelling and grammar, but the
readers wouldn’t be human if they weren’t influenced by an essay that had lot§ of
spelling mistakes and improper grammar—it gives the impression that you just
didn’t care enough to proofread.

: . e word
Because pervasive spelling errors will detract from your score, pick an easier w

if you're really uncertain of how to spell a word.

The Geography of the Critical Thinking and Analytical Writing Section
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Summary

o Different programs value the essav section in
different ways. Check with vour program to see
how important the essavs are.

o Understand the criteria ETS uses when judging
your essay. Organization, examples, and lan-
guage use are important. Perfect grammar and
spelling less so.

o On the GRE, longer essays tend to ger better | Ch 4
scores, so strive to write as much as vou can for apter 1
The Issue Essay

The Issue essay of the GRE requires you to present your
opinion on the provided topic. This chapter will show
you the steps to take in order to write a clear, coherent
essay in the limited time provided. You'll learn exactly
what sort of things the ETS graders are looking for

when they evaluate your essay so you'll know just what

to do on test day.

each essay.

0 Make sure you understand the differences in
the assignments for the Issue essay and the
Argument essay.

o Issue essays ask for your opinion on a topic
while argument essavs expect vou to critique
the logic of an argument. The ways in which
youre asked to do each of these tasks will vary,
so make sure you read each sct of directions
carefully.

o The word processor ETS provides has only the
most basic functions. You can delete, copy and
paste text, but not much more.

336 | Cracking the New GRE
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You have to know what
you want your essay to
say before you can
start writing.
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THREE BASIC STEPS

Because you don't have a lot of time to write the essays, you'll need to have a pretty
good idea of how you're going to attack them as soon as you sit down at the com-
puter on test day. Our approach to the essays involves three steps. These are:

1. Think. Before you start writing, take a moment to brainstorm some
thoughts about the topic.

2. Organize. Take the ideas you've come up with and fit them into the
assignment for the prompt. )

3. Write. Once you've completed the first two steps, the final step
should be a snap.

Thirty minutes is not a lot of time to write an essay, so you have to get it right the
first time out. While ETS advises you to leave enough time to proofread and edit
your essay, it simply isn’t feasible to expect to make any significant changes to your
essay during the final minutes of the section. Furthermore, if you get halfway
through your essay and realize you're stuck or you're not saying what you need to
say, you'll be hard pressed to fix your essay in the time you have left.

It is essential, therefore, to make sure you spend time planning your essay before
you start writing. You have to figure out whar it is you want to say before you
begin; otherwise, you run the risk of writing an incoherent, rambling essay. The
first two steps are actually more important to a successful GRE essay than the

final step; by spending a litle time planning your essay, the actual writing part
should be relatively painless.

The keys to the essay: Think, Organize, Write.

Let’s start our discussion of the Issue essay by looking at a typical prompt.

The Prompt

True beauty is found not in the exceptional but in the commonplace.”

Write an essay in which you take a position on the statement above. In

ﬁlevelopmg and supporting your essay, consider instances in which the
statement does and does not hold true.

”
The prompts are supposed to get you thinking about areas of “general interest

whatever that means. A better way

f thinki is to look at it as
agree/disagree- of thinking about the prompt is to loo

orp ro/con-type statement. Your task in the essay will be to look at

b i . i
oth sides of the issue, the pro and the con side, and take a position on the state

ment. Let’s look at how to do that.

STEP 1: THINK

“Think” is a pretty broad command, so we need to clarify this step in order to
make it more useful. Specifically, we want you to think about three things:

1. Key Terms. What are the key words or phrases in the prompt? Do
the terms need clarifying before you can properly deal with them in
the essay?

2. Opposite Side. What would the converse of the statement be?

3. Examples. What are some examples that would support the state-
ment? What are some examples that would support the opposite

statement?

Let’s work through these steps with our sample prompt.

Key Terms |
When preparing your essay, you first want to look more closely at the lfcy terms in
the prompt. Do they need to be clarified? Are there multiple ways of.mtcrprcnng
the words? In order to make your essay as focused as possiblc", you might ne.cd to
limit the key terms to a specific definition or interpretation. If the key terms in the

prompt seem pretty straightforward, you still want to note them. By repcatedly

i ; ’ i ion that your essa
returning to these terms in your essay, you Il convey the impress 3 y

is strongly organized and on topic.

For the sample prompt above, write down the key terms:

, 7 .
true, exceptzonzzl, and commonpmre. We

For this prompt, the key terms are beauty,
need to think about how we’re going to us¢ th
what is true beauty? Do we want that to me
sider man-made objects? As for the word bea

son 1o artstc beauty such 4 P b di tural beauty, such as stars
poems and literature as well? Should we only discuss natu v,

ch as models and
and flowers, or should we consider Personal l?eauty iy we}l-,l-’ S(l(l) ic, if we had the
GRE instructors? As you can see, We could write a lot on this : p t,rms e
? : ey terms,
time. But we don’t, so it’s important to focus. By defining our ke

i wri
the essay a lot more manageable and casier to
this essay, let’s include both natural obje

out personal beauty.

esc terms in our essay. For example,
an just natural beauty or can we con-
uty, do we want to limic our dnsFus—
d sculptures, or should we consider

te in a short amount of time. For

cts and manmade artistic feats, but leave

Using key teone from th
prompt throughoat yor

g5y contribites st

pyveratl caherenny
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Opposite Side

In order to score well on the Issue essay, you'll have to consider both sides of the
prompt. ETS is looking for more than a straightforward “I agree and here’s why”
or “I disagree and here’s why” essay. Rather, the graders want to see you consider
both sides of the issue and then defend your position. Take a brief moment to look
at the sample prompt, and then write down the converse of the statement.

For this prompt, the opposite side of the argument would be something along the
lines of “True beauty is found not in the commonplace, but the exceptional.” Note
that ETS doesn’t have a preference for the pro or con side. So if you find the oppo-
site of the statement more convincing, that’s fine. As long as you can support your
position with some relevant examples, it doesn’t matter what position you take on
the prompt. This brings us to the final part of step one—brainstorming examples.

Examples

In many ways, the examples will be the most important part of your essay. With-
out strong, relevant examples you cannot expect to achieve a high score on the
Issue essay. As the instructions state, you should support your position with
examples drawn from your reading, experience, observation, and academic
studies. In general, the more specific your examples are, the better your essay score.
And examples from history, literature, or current events are better than person al
observations or experiences. Imagine yourself as an ETS grader (a terrible thought,
we know). Which sentence would you respond more favorably to?

“Few observers would doubt the awesome beauty of the ceiling of the

Sistine Chapel in Rome, a work of art produced by the great Renais-
sance artist Michelangelo.”

“Few observers would doubt the aqwesome beauty of the various paint-
ings they see in museums, works of art produced by great artists.”

Both sentences essentially say
But the first sentence would be
the specificity of the example.

the same thing and use practically the same WOdef-
graded more favorably by an ETS grader because ©

j ious ake sure
Take a moment to jot down some examples for the previous prompt. M.ll(t u
you come up with examples for both the original statement and its opposite.

Now take a moment to look over your examples. Are they'speciﬁc? Are tht‘);
relevant to the topic? Do they support a position on the tOplC?’ 'Lhe C;strcngtb .o'
your examples will determine the strength of your argument. [t sh(ar F(:hvtv::(:rii
convincing paper with weak examples. Here are some examples that mig

for our sample topic, both weaker and stronger:

Better Example

Leonardo da Vinci’s Mona Lisa
Notre Dame Cathedral in Paris
Niagara Falls

Okay Example
paintings, artwork
buildings, churches

flowers, natural wonders

i “ontai ific details.
Good examples are relevant to the topic and contain specific d

i iled example. Also
In each case, the better example is the more specific, more detaile p

i i hat
note that we've avoided any pcrsonal examples. While you certainly may feel tha

h an E I S gl ade[ llCally as WC” as 4 more

of personal example won't resonate Wit | examples only when specifically

academic or global example. Use persona
instructed to by the prompt orasa last resort.

STEP 2: ORGANIZE

Once you've identified the ke
and generated some examples,
want to do the following:

site side of the issue,

idered the oppo .
y terms, cons ere ghts. Basically, you 1

it’s time to organize your thou

w many of your examples support the

I Separate Your Examples. o t the con side? Divide your examples

pro side and how many suppor

ich side has more support.
2 :xl; ?tndYsesrvYI};iZ?iss lStatemem. After evaluating the strength of your
. rite Yo

P ) p y i i ’ then

write your thesi \

€ssay to CXpI’CSS.

le prompt.
Let’s continue the process on the sample p

Avoud hypothetical

examples

the hetter

the mare

spectic your example
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Separate Your Examples

Do this before you decide on your thesis statement. Even though you might
have a strong preference for one position on the issue, you might notice that the
examples you brainstormed tend to support the other side of the issue. Don't
expend more time trying to think of examples to support your preconcep-
tions; just write your essay supporting the other side! There is no right or wrong
response. All that matters is being able to write a strong, coherent essay in a very
limited time. Your personal views or beliefs are unimportant to the ETS graders. If
we continue with the examples we used earlier, they would probably break down

like this:

Pro Con
natural wonders Mona Lisa
Notre Dame

Based on some of the examples we've come up with, it looks like we’d be better oft
supporting the idea that “True beauty is found not in the commonplace, but in
the exceptional.” While natural wonders like sunsets and flowers are pretty com-
monplace, we've come up with a lot more exceptional examples. And it looks like

we could even argue that it is the exceptional natural wonders, such as Niagara
Falls, that are truly beautiful.

Write Your Thesis Statement

Now comes the culmination of al] of our work. What point do we want to make
about the topic? Write it down here:

Our thesis should probably be something along the lines of this: “While

lc)ertam. commonplace natural objects are examples of beauty, U
eauty is most often found in rare, exceptional cases.”

Now that we have f
we believe it. But re
ready to write!

gured out what we want to say, we can focus on proving W}Iy
member, only after working through these steps are we truly

Practice: Steps 1 and 2

Work through steps one and two on the following Issue essay prompts below.

PROMPT 1

M "
ius 1 i n.
“Genius is nothing more than another term for obsessio

Write an essay in which you take a position on the stater.nent'above. In
developing and supporting your position, you sh_ould c'0n51der instances )
in which the statement is true as well as those in which the statement 1s

false.

On your scratch paper, write the (1) Key Terms, (2) Opposite Side, (3) Examples,

and (4) Thesis.

PROMPT 2

ion i t morals.”
“The proper role of education 1S to teach facts, no I
ake a position on the statement abovg. n
ition, you should consider cases 1n
1l as those in which morals are taught.

Write an essay in which you t
developing and supporting your pos
which education teaches facts as we

he (1) Key Terms, (2) Opposite Side, (3) Examples,

On your scratch paper, write t

and (4) Thesis.

Practice: sample Respo“ses ments will differ, but these sample

Obviously, your examples and thcsi.s state : " bt
reSPOHSCSywi)il give you a good indication of what ETS is looking fo

The Issue Essay

343



344 | Cracking the New GRE

Prompt 1
Key Terms: Genius and obsession. Are we talking about artistic genius? Or

scientific genius? What does the word obsession entail? Is it just another word for
being crazy?

Opposite Side: “Genius is not just another term for obsession.”

Examples: Isaac Newton, who once stuck pins into his own eyes in order to better
understand optics; Vincent Van Gogh, who cut off part of his own ear under the
stresses of his work; Thomas Edison, who patented over 1,300 different inventions

Thesis: “Many geniuses in both the artistic and scientific fields do demonstrate a
form of obsession or mental unbalance.”

Prompt 2

Key Terms: What sort of education are we referring to—elementary school,

college, business school? Whar are morals? Are we considering religious view-
points or just ethical standards?

Opposite Side: “Education should teach morals.”

Examples: Law schools, business schools, and medical schools all teach proper
ethics for their professions; Trade schools and vocational schools tend to teach
only facts; Students can get moral training at home or in a religious institution

Thesis: “Many educational institutions h

ave an obligation to teach morals as well
as facts.” '

STEP 3: WRITE

Now that we know how to prepare for our Issue essay, we can write it. In this
M b . . _
section, we'll discuss various templates for essays and show you how you can pre

construct certain portions of your essay. Before we do that though, let’s revisit
what the readers are looking for from your writing. '

What the Readers Want to See

The essay readers will be looking for four characteristics as they skim your Analysis
of an Issue essay (at the speed of light). According to ETS, an outstanding essay

considers the complexities of the issue

supports the position with relevant examples
is clearly well organized

der.nonstr ates superior facility with the conventions of standard
written English, bue still with minor flaws,

To put it more simply, the readers are looking for good organization, good sup-
porting examples for whatever position you've taken, and reasonably good usc of
the English language. We've hopefully raken care of the first two parts, so now

we Il deal with the next two.

Essay Essentials | -
As you learned in sixth-grade composition class, a basic essay has thrc‘c parts: an
introduction, some body paragraphs, and a conclusion. These tbrcc rbmgs are ex-
actly what ETS wants to see in your Analysis of an Issue essay. Each of these parts

has a specific role to play.

I, The Introduction should introduce the ropic of the essay, discuss the
issues surrounding it, and present the essay’s thesis. oo
. thesis 0
2. The Body Paragraphs should use examples to support the thesis ¢
the essay.
3. The Conclusion should summarize t poi
erate the thesis and perhaps consider its implications.

he major points of the issuc, reit-

Basically, if you try to think of each paragraph as having a spccifjﬁ i.ob ;o‘ L\i()(.) :l(f):
can pretty much preconstruct each type of paragraph and then hll in the sp

details on test day.

Preconstruction: The Introduction

For the Issue essay, a good introduction accomplishes the following tasks:
A good introduction: . |
g1. Clearly establishes the topic of the paper
2. Previews both sides of the issue at hand
3. Presents a clear thesis J

Lets lO()k at eac h ()f T etal (l (l]s( uss (h“Cl nt Y (¢ 0O p
l an € ways (O aCC m l]ﬂ,h

the goals of the introductory paragraph.

EStabliSh the TOplc hat issue the essay is going to talk about. Even

at iss .
We want the reader : T knOV}\]’eW rompt youre writing about, hc'or she shnulcﬁi bc'
though the grader will sce the P reading the introduction of your essay.

i rom . .
able to figure out the prompt just f uickly establish the topic, so let’s return to
. an q
There are a few different ways you ¢4

oaches.
.. uct some appr
our original prompt and preconstr

Th B o ot g oy,
(i{‘X(”I "[="j$"“\:r"
Body paiansa b s

RERSIITRINIEE

i

doetrong Thpok o

peginning of your £u59¢
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Here, once again, is our prompt:

“Irue beauty is found not in the exceptional but in the commonplace.”

Write an essay in which you take a position on the statement above. In

developing and supporting your essay, consider instances in which the
statement does and does not hold true.

One of the worst ways of establishing the topic is to merely quote the prompt.

ETS graders look upon this tactic with disdain, so let’s find other ways of starting
our essay.

Approach #1: Rhetorical Questions

This is a tried-and-true way of introducing your topic. Instead of simply quoting or
paraphrasing the prompt, turn it into a rhetorical question. Here are a few samples:

Where does true beauty lie, in the exceptional or in the commonplace?
Do we find the exceptional more beautiful or the commonplace?

Can we only fin}d beauty in rare, exceptional instances or does it truly
lie all around us?

It is immediately clear what topic the essay will explore, from each of these exam-
ples of introductory sentences. See if you can come up with a rhetorical question
for either this topic or one from the previous drill.

Approach #2: Famous Quotations

Another classic approach to beginning an essay is to use either a well-known say-
ing or a famous quote from someone, Many of the GRE topics are fairly bland, so

. 3 . 1 i
even if you can't think of a famous quote, there are usually some classic aphorisms
you use. Here’s what we mean:

“Beauty is Truth and Truth Beauty,’

" or so said the romantic poet John
Keats. :

A common saying is that beauty is in the eye of the beholder.

QbViOUSlY, this type of introduction can be tough to do if something doesn’t poP
into your head right away. Tr

. . is
: Y to come up with a quote or common saying for th
topic or one from the drill.

Approach #3: Anecdote ’ |
An anecdote is a brief story. Oftentimes you can grab your reader’s attention and
introduce the topic with a good anecdote. For example:

It is said that Cezanne, the famed French painter, was so ('on(ierm'd
with the beauty of his paintings that he would destroy any of his works
that he felt was flawed.

The Romantic poet John Keats was so struck by the beauty of (‘.hap-
man’s translation of Homer’s work that he wrote a poem about it.

When using an anecdote you might have to write a sentence or two cxp(ia.llr;mg 'thc
i i opics.
relevance of your story. Try out an anecdote for this topic or one of the drill top

Approach #4: Fact/Statistic .

Foggome topics, it might be appropriate to start your ¢ssay by s?tanl?g ’a ixcth?r
statistic. ETS graders aren’t allowed to penalize you fo’r factual .ml.sfta es afn t .c‘)('
certainly aren’t going to fact-check your essay. So don't be afraid if your fact isn

) . H .
100 percent accurate. Here’s an illustration:

A recent scientific study showed that the faces that pe(;ple find the
most beautiful are those that are the most symmetrical.

’ ; to certain
Psychologists have demonstrated that people’s re§p07,,?e~5tilo (b(rrain
phenomena are based on certain innate mechanisms in the orain.

m the drill.

) . i ne fro
Give this approach a shot, using this topic or o

Approach #5: Definition |
One way you may wish to start your €ssay 15
the prompt. For example:

by defining one of the key terms from

Beauty, by definition, is that which moves us or impacts us significantly.
auty, by defi ; '

The “e refers to those ] ] shich
] ” th'ln S that . f(ln(l Out. U,hT(,
“exceptional” typzcally efers t t g

is also a plausible definition for beauty.

you already spent some time thinking along

The advantage to this approach is that ith a sample introduc-

. ssay. Come up W
these lines when you were p lannmgfyl(:u::l:ill t);PiCS'
tory sentence for this topic or one of t €

A goud upererg e
great to have: bt
stuck, dorct spenid g
excessive amonunt of e
lying te come: up with
sometinng clever
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Preview the Issue

Once you've told the reader what the topic is, your next task is to inform the
reader of the issues at hand. You want to briefly touch on both sides of the debate,
explaining the pros and cons of the prompt. A good way to accomplish this s to

make use of strong trigger words——words like but, despite, while, and although.
Here are some examples.

While some people can find beauty in the most common of places, true
beauty is only found in the exceptional.

Some would argue that beauty is found everywhere. from the flowers to

the stars, but others would state that true beauty is found only in rare,
special instances.

Despite the assertions of many that beauty is everywhere, true beauty
is found only in exceptional cases.

Altﬁough one might argué that many commonplace things are beautiful,
it is the exceptional things that possess true beauty.

There can be no doubt that some of the world’s most common things

are beautiful. And yet, it is often the exceptional objects that possess
true beauty.

Practice writing sentences that address both sides of the issue. Use the samp le
topic or one from the drill.

Present the Thesis

Your final task in the introduction is to present the thesis. Some writers prefer ©
avoid the first person, refusing to use sentences such as “I believe...” or “I f‘f,el""
However, GRE graders will not penalize you for use of the first person. A more
I{nportant consideration when writing your thesis is giving the reader some indica-
tion why you hold your paricular position. ETS graders want to see that you've
thought about and analyzed the issue. Here are some examples of thesis statements:

I believe that beauty is truly found in the exceptional, not the common
place, because j

: if common things were beautiful, the very word would
lose its meaning. /

In my view, beauty is found in the exceptional, not the common‘pla'ce.
This is because only exceptional things really stand out as special in
our minds.

It is clear that true beauty is not to be found in the commonplace but
in the exceptional. On closer inspection, even so-called common
objects that people consider beautiful are actually exceptional.

After weighing the evidence, it is certain that beauty is the provinge

of the exceptional, not the commonplace. People find true beguty m
things that they rarely experience, not the things they experience every
day.

For each thesis, you can see that the author is also giving some justiﬁcati;)ln for t:e
viewpoint. This justification will be of course explore(‘i more thoroughly in vtv ilcl
body paragraphs, but it’s good to give the reader a preview of lhow your essay
take shape. Try writing thesis statements for some of the sample prompts.

Preconstruction: Body Paragraphs

A body paragraph should do the following:

Good body paragraphs:

1. Usea good transition/topic sentence

2. Present an example "
3. Explain how the example supports the thesis

arder to preconstruct because they are the most

Body paragraphs are a little hthere O e handy tips for creating body para-

specific part of the essay. Still,
graphs that an ETS grader will love.

Transition/Topic Sentence

t way to write an essay
ETS graders love organized essays that flow wcél. Theitl;zi1 e ryeaCh ooy
like this is to use strong topic sentences and good trans

inder to the reader of
paragraphs. Your topic sentence should serve as a gentle rem

what the thesis of the essay is. For example:

. i da Vinci’s
One ezample of beauty found in the ezceptional is Leonardo

Mona Lisa.
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A se'cond instancg in which true beauty lies not in the commonplace
but in the exceptional is Notre Dame Cathedral in Paris.

Of . : : .
coilrie, you might want to avoid using simple transitions like “the first
examp lel, ;nd the second example.” You can make your writing stronger by lead-
in . . .
g with the example and making the transition a little more subtle, like so:

Leonardo da Vz’ngi’s. Mona Lisa is surely one of the most exceptional
and beautiful, paintings ever created. ’

anszder the beauty of Notre Dame Cathedral in Paris. a building that
i 1n no way commonplace.

Or to get ev i .
get even fancier, refer to the previous example in your transirion sentence:

Lik o .
e; e ia Vinci’s Mona Lisa, the cathedral of Notre Dame in Paris is an
ceptional, and exceptionally beautiful, object.

The import inti
ant ,
reader Sfthe point is ;hat each sentence introduces the example and reminds the
ur .

beauty as excle)pt‘posel 01 th:1 example, which in this case is to support the notion of
ional. In the n , . .

example. It’s important th ext few sentences, you'll provide details about your
p t that you remember to link the example to your thesis.

Explain How Your Example Supports Your Thesis

On the GR ,

that you forEete stsays, (lio.nt get so caught up in providing details for your example

The Purposegof (})1 e);p ain to th'e reader how or why your example helps your thesis.
the lssue essay is not to just list out some examples; the purpose is

to develop and sup "
port a position on the i ) .
graph that doesn’t quite fulfill that go‘":l:e sue. Heres an example of a body pe

Like da Vinci’s N i
a Vinci's Mona Lisa, the cathedral of Notre Dame in Paris is an

exceptional ; ,
epronal, and exceptionally beautiful, object. Notre Dame is a stun

ning ex : .

thafad;‘:;ipf;e()ﬁiglothw aTCthCfCt.“Ter famous for the flying buttresses

rows of beautiful o lOf the building. The cathedral also has rows and

geous central stq iy cudptwes recessed into the walls, as well as a gor-

one of the mne -.glass window. These features make Notre Dame
most beautiful cathedrals in the world.

The writer h ; .

which ETIS err:djrldla good job of providing specific details about the examples

supports thegview Shove, However, the reader failed to explain why Notre Dame
hat true beauty is exceptional, not commonplace. Let’s fix that:

Like da Vinci’s Mona Lisa, the cathedral of Notre Dame in Paris is an
ezceptional, and exceptionally beautiful, object. Churches and cathe-
drals line the streets of most major cities in Western Europe, but few
possess the renown of Notre Dame. Notre Dame 15 a stunning example
of gothic architecture, famous for the flying buttresses that adorn the
sides of the building. The cathedral also has rows and rows of beauti-
ful sculptures recessed into the walls, as well as a gorgeous central
stained-glass window. These features make Notre Dame one of the
most beautiful cathedrals in the world. Compared to a common church
or cathedral, Notre Dame is truly awe-inspiring; Victor Hugo used the
building as the backdrop for his magnificent book The Hunchback of
Notre Dame and thousands of tourists travel untold miles to view the
cathedral. That sort of beauty s not possessed by just any church on

the corner.

This is a stronger body paragraph because it is more explicit in its discussion of
the thesis. The author notes that churches and cathedrals are fairly common, but
then argues that Notre Dame stands out as an exceptional cathedral. The author
concludes the paragraph by showing how Notre Dame is more beautiful than any
typical church. Just as a reader should be able to figure out what the topic of the
paper is from the introduction, a reader should be able to figure out the thesis

from each paragraph.
examples for this sample topic, or one of

ke sure you have a good topic/transition
explanation of how or why the

Write a body paragraph for one of the
your examples from the practice. Ma
sentence, specific details for the example, and an

example is relevant to the thesis.

Preconstruction: Conclusion Paragraphs .

Your essay should always have a conclusion, for two reasons. First, a conclusion
paragraph is evidence of good organization. It shows the reader that ?fou k;ew
exactly what points you wanted to make, you made ‘them, and.DOW youre erll ing
the essay. And second, an essay that lacks a conclusxf)n seem's incomplete, almost
as if your writing abruptly ends before it should. :ThlS can give the grader a nega-
tive impression of your essay. Fortunately, conclusion paragraphs are easy to write.

A good conclusion basically:

A good conclusion:

L Alerts the reader that the essay is ending

2. Summarizes the main points of the essay

Make sure your essay
has a conclusion.
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Some test takers even prefer to write their introduction and conclusion first and

then fill in the body paragraphs. This strategy has the advantage of making your

essay seem complete even if you happen to run out of time writing the body
paragraphs.

Alert the Reader

Conclusion paragraphs have their own topic/transition sentences, which generally

should contain a word or phrase that tells the reader he or she is reaching the end.
Here are some examples:

In conclusion, it’s clear that true beauty is found not in the common-
place, but the ezceptional.

Ultimately, beauty lies in the exceptional, not the commonplace.

As the bulk of the evidence shows, the exceptional, not the common-
place, possesses true beauty. |

Clearly, true beauty is found in exceptional things, not in common-
place ones. '

The exgmples above all support the idea that we find true beauty in
exceptional cases, not in commonplace ones.

Write s i
ome conclusion sentences for this topic or a sample topic from the
somple prompts.

Summarize Main Points

Your conclusi :

pcon ;Sio-n shc;luld also summarize the main points of the essay, meaning that

N c::(r;txox;l the thc?sxs and how the examples support it. Additionally, you can
Y consider the implications of the thesis. Here are some sample conclusions:

In L
conclusion, it’s clear that trye beauty is found not in the common-

place, but the exceptional. The Mona Lisa and Notre Dame Cathedral

are b ] '
the oth exceptional examples of fairly commonplace things and it ¢8

cof;é;n if;celptions that are noted as truly beautiful. If anything, the
place only serves as a contrast to what true beauty really is.

Ultimately, beauty lies in the exceptional, not the commonplace. While
paintings and churches are fairly commonplace, only a small few of
them, such as the Mona Lisa or Notre Dame, truly reach the heights of
beauty. It is in these exceptions that we find real beauty.

The ezamples above all support the idea that we find true beauty in
ezceptional cases, not in commonplace ones. Common things may
seem at first glance to be beautiful, but once we compare these com-
monplace examples to the truly exceptional ones, we see that the
exceptional ones are truly beautiful.

Try your hand at constructing a conclusion paragraph, once again using this topic
or one from the sample prompts.

Putting It All Together

Read through this sample essay that’s based on the basic five-paragraph model.

Then you'll have the chance to try writing a similar essay for a different prompt.

“True beauty is found not in the exceptional but in the commonplace.”

sition on the statement above. In

Write an essay in which you take a po: : .
consider instances in which the

developing and supporting your essay,
statement does and does not hold true.

is that which moves us oT {mpacts us significantly.
Some would argue that beauty is found everywhere, from the flqwers to
the stars. But others would state that true beauty s found. only in rare,
special instances. After weighing the evidence, it is certain that beauty
18 the province of the exceptional, not the commonplace. Peqple are
moved most by things that they rarely erperience, not the things they

experience every day.

Beauty, by definition,

Those that would argue that true beauty ?’5 everywhere nght point

to the beauty of a flower, or the starlit night. These ex.perzences a;’e ,
certainly common, but do they show that true beauty is commonplace:
Flowers might be considered beautiful, but how often does a person
stop to look at or appreciate eVeTy ﬂower? Flowers are 50 commoln
that in many cases, they are ignored or mgwed as not.hmg special. y
However, on those rare occasionsfemceptzonal occasions, one ng
say—when we want to commemorate an event or erpress emotion, we
notice the beauty of flowers. Thus, it is nqt the c.omm‘onpla;l:e ﬂoz;;ve;
that strikes us as beautiful, but the ezceptional situations themse

that move us to appreciale the flower.
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Now consider the exceptional. Leonardo da Vinci’s Mona Lisa is surely
one of the most exceptional, and beautiful, paintings ever created. Few
people who view the painting are not moved by the sheer beauty of it
and the Mona Lisa is instantly recognized as a masterpiece of art. ’
And yet, there have been literally millions of paintings produced in
human history. Is every single one of them beautiful? Does every one
of those paintings have the impact that da Vinci's does? Of course not.
In order to find beauty, we must separate the exceptional cases from

the common ones. True beauty is such because it stands out from the
masses of the average and pedestrian.

Like dq Vinci’s Mona Lisa, the cathedral of Notre Dame in Paris is an
ezceptz-anal, and ezxceptionally beautiful, object. Churches and cathe-
drals line the streets of most major cities in Western Europe, but few
possess the renown of Notre Dame, one of the most beautiful'cathe-
drals in the world. Compared to a common church or cathedral, Notre
Dame is truly awe-inspiring; Victor Hugo used the building as the
backdrop for his magnificent book The Hunchback of Notre Dame and
thousands of tourists travel untold miles to view the cathedral. That
sort of beauty is not possessed by just any church on the corner.

In conclusion, it’s clear that true beauty is found not in the common-

place, but the exceptional. The Mona Lisa and Notre Dame Cathedral

;z}:"e both exceptional examples of fairly commonplace things and it is
ese exceptions that are noted as truly beautiful. If anything, the com-

monplace only serves as a contrast so that we can understand what
true beauty really is.

Your Turn

Téy writi%g a similar essay for the prompt that follows this paragraph. Make sure
you consider the opposing side of the argument. Devote a paragraph to looking at

an exampl i i
n exa p 'e for the f)ther.31de of the issue, but make sure you indicate to the reader
at there is a flaw in the example or that

_ ' the example is less than convincing. Set
a timer for 30 minutes to practice GRE ti

me constraints.

—

“People most respect the

powerful not when t ; ; but
when they refrain from e en they exercise their powen,

xercising it.”

Writ . .
ot :mzr:lteisljty in whlc}§ you develop and support a position on the
- above. In writing your essay, you should consider both when the

statement may be true and when it may be false. /,’J

How to Score Your Essay

Now it’s time to put on your essay-scoring hat and prepare to grade your own
essay. If you're lucky enough to have a friend who is also preparing for the GRE,
you could switch essays and grade each other’s like you used to do in sixth grade.
You'll need to be objective during this process. Remember, the only way to
improve is to honestly assess your weaknesses and systematically eliminate them.

Set a timer for two minutes. Read the essay carefully but quickly, so that you do
not exceed the two minutes on the timer.

Now ask yourself the following questions about the essay:

Overall, did it make sense?

Did you address the topic directly?

Did you address the topic thoroughly?

Did your introduction paragraph repeat the issue to establish the
topic of the essay?

Did you consider both sides of the issue?

Did your examples make sense?

Did you flesh out your examples with details?

Did you explain how your examples supported your thesis?

Did your essay have a strong concluding paragraph?

Was your essay well organized, using transitions and topic sentences?
11.  Did you use language that made the organization of the essay obvious?
12.  Did you use correct grammar, spelling, and language, for

the most part?

BN

—
SO XA

If you could answer “yes” to all or almost all of these questions, congratu.lations!
Your essay would probably receive a score in the 5-6 range. If you continue to
practice, and write an essay of similar quality on the real Analysis of an Issue
section of the real test, you should score very well.

to fewer than 12 of the questions, you have room for

If you answered “yes”
now which areas you need to strengthen as

improvement. Fortunately, you also k
you continue to practice.

If you answered “yes” to fewer than 6 of the questions, your €ssay would probably

not score very well on a real GRE. An essay of this quality would not help you i.n
1d raise some red flags in the minds of the admis-

the admissions process and cou
focusing on the areas of weakness

sions people. You need to continue to practice,
that you discovered during this scoring process.

Another Sample Response

j iced on. Your
Take a look at a high scoring response to the prompt you just practiced
' fine. This is just one of many ways to success-
essay might look different and that’s fine. j

fully complete the Issue essay assignment.

The Issue Essay
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“The powerful are most respected not when they exercise their power, but
when they refrain from exercising it.”

Write an essay in which you develop and support a position on the
statement above. In writing your essay, you should consider both when the
statement may be true and when it may be false.

What aspect of power engenders the greatest respect? Some would
argue that power inspires respect only by its ability to change things

or bring about results. This camp respects the powerful only when they -

demonstrate their power by raising a massive army or bestowing char-
ity on the less fortunate. Others believe that the true measure of power
lies not in what it is used for, but in how it is restrained. These people
believe that people most respect the powerful when they choose not to
use their power, such as granting clemency to a criminal on death row
or allowing critics of the government to speak out.

Consider first the respect people hold for the exercise of power. One
of the mightiest displays of power is the ability to protect and safe-
guard people and property and this aspect of government is what many
people respect. Indeed, in Hobbes’s Leviathan, he argued that one of
the reasons people sacrifice themselves for the good of the state 1s to
preserve the power of the state to protect its members from outside
attacks. And one of the stated goals of the United States massive mili-
tary buildup was so that other countries would either “love us or fear
uuf:.”.Thus, it is clear that people have respect for displays of power.
Similarly, the ability of the powerful to bestow gifts of charity on the
less fortunate is also well respected. The names of philanthropists like
Car'negie and Rockefeller are held in high esteem because they used
their power to help those less fortunate than themselves.

On the other hand, the ability to show restraint can also engender
respect. Recently, the governor of Illinois decided to commute the
death sentences of all the prisoners on death row. Such an act of
clemency brought high praise from human Tights proponents around
thg world. Furthermore, the fact that democratic governments allow
dzs.se.nt when they could in many cases censor or squash unfavorable
optnions also lends credence to the view that restraint of power 18 what
peo.pl'e respect. For exzample, the arbitrary arrest and sentencing of
political dissidents in Russiq has brought much international criticis™
of the Kremlin, while countries that support freedom of speech and the
press are widely respected in the world.

Ulltz'mately, after considering both sides of the issue, it must be con-
cluded that the ezercise of power is most respected. This because €ven
in cases of restraint, the entity in power is still ezercising its power-

Granting clemency is only possible because the state holds the power of
life and death. Allowing dissent is only exceptional because the govern-
ment has the power to crush it. Thus, it is not the restraint of power
that people most respect, it is the exercise of it.

FINAL THOUGHTS: WHAT TO DO WITH YOUR TIME

Now that you know how to construct your essay, you have to practice writing
essays in a mere 30 minutes. Here's a guideline for how to use your time:

*  Find key terms, state opposite side, brainstorm examples: 57 minutes
*  Formulate thesis: 2 minutes

*  Write essay: 18—-20 minutes

*  Proofread: 1-2 minutes

Notice that not a lot of time is allotted for proofreading. Remember that it’s ol.cay
to have minor spelling and grammatical errors. Your time is better spent making

i i i i effective essay.
sure you consider both sides of the issue completely and write an y

For tons more practice, you can go to ETS.org for the complete list of essay topics.

Your essay doesn't have to

be perfect
big picture

Focus on the

The Issue Essay
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Summary

Follow the three simple steps to essay success:

Think, Organize, Write.

One of the keys to high scoring essavs is good
examples. Make sure your examples are relevant
to the topic and as specific as possible.

Try to use examples drawn from vour readings,
current events, literature, and history. Avoid
personal examples.

Spice up your writing by employing an inter-
esting “hook™ to get your readers artention.
Consider using such hooks as rhetorical
questions, quotes, anecdotes, facts and statistics,
and other attention getting devices.

A good GRE essay presents a smooth flow of
ideas and examples. Make sure you use transi-
tions to help your reader follow the progression
of ideas in your essay.

Templates can be effective ways of organizing
your essay, but don’t feel restricted to them.
Come up with your own template or modify
the existing templates as you see fit.

Chapter 15
The Argument Essay

The Argument essay of the GRE asks you to examine
and critique the logic of an argument. The arguments
you will see in this chapter are similar to the ones you
worked with earlier in the book and you will need to
use the same approach to breaking these arguments
down. This chapter will show you how to organize and
write an essay once you've found the premises, conclu-
sion, and assumptions of a GRE argument.
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You'll be able to use all the skills we've discussed for the Analysis of an Issue essays
on this type of essay as well, but in a slightly different way. Instead of asking for
your opinion on a topic, the Analysis of an Argument essay asks you to critique
someone else’s argument. Before we jump into setting up templates and other pre-
construction steps, let’s take a look at how Analytical Writing arguments work.

THE PARTS OF AN ARGUMENT

As seen in the Critical Reasoning portion in Chapter 6, an argument, for GRE
purposes, is a short paragraph in which an author introduces a topic and uses rea-
soning or factual evidence to back up his or her opinion about that topic.

A really simplified example of an argument could be:

My car broke down yesterday, and | need a car to get to work. There-
fore, | should buy a new car

The car argument above is composed of three parts:

The conclusion—the author’s opinion and recommendation for action
The premises—the facts the author uses to back up his or her opinion

The assumptions—unstated conditions that must be true in order for
the argument to make sense

In this argument, the author’s conclusion is “ should buy a new car.”

The premises the author uses to

support this conclusion are that his car broke
down yesterday,

and that he needs a car to get to work.

The premises must sy
The tabletop is the m
and you can put thin
wood on the floor,

pport the conclusion the way table legs support a tablctoP-
ost obvious and useful part of a table—you see more of it
gs on it. But without the legs to hold it up, it’s just slab of
The same is true for the conclusion of an argument. The con-
clusion is the part that gets all the attention, since it recommends some course of
action, bur without the premises to support the conclusion, the conclusion wont
hold up.

Conclusion Words

Certain words indicate a conclusion:

* 5o *  clearly

o therefore ¢ then

*  thus *  consequently

. hence . as a result

*  showed that e concluded that

> -
When you see these words, you can be pretty sure that you've found the conclu
sion of the argument.

Premise Words

Certain words indicate premises:

¢ in view of

+ inlight of

. because
. since

. e assume
. if

. given that

ASSUMPTIONS

, . ,
An assumption is an unstated premise that supports the aut}'xors Icox1}cllu51)(()axl1r.nItl :
the connection between the stated premises and the conclulsxon. r(li tthz iableg,p
of the table, the assumption is that nails or glfle hold the %%S ;nut the assump-
together. Without the glue or nails, the table will fall apart. Witho

tion, the argument will fall apart.

i facts that make up
Sometimes the assumption is described as the gap between the PR
3
the premises and the conclusion. They don't always connect, so

the gap between them.

Let’s take a look back at the car argument:

My car broke down yesterday, and | need 2 car to get towork. There-

fore, | should buy a new car.

d a car to get to work.
The premises are that my car broke down yesterday and I nee g

The conclusion is that I should buy a new car.

g ) y StiOl’lS. ThCSC qUCS—
you ﬁISt Iead th'S ar ument ou ma havc had some qUC' \

1 ht haVe b 1 ’ “ W hy can’t I]lC author JUSt rent a car: Or
i lg cen along thC liI‘lCS Of t ?

£« . ?”
Why can’t the author just fix the car:

The Argument Essay
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YT

As you read an argument, identifying the premises and conclusion, questions may
pop into your head. Those questions are pointing out the gap that leads to the
assumption. Here, the gap is between having a broken car and still needing a car
to get to work on the one side, and having to buy a new car on the other side.

Therefore, the assumption must be:
There is no other way to have a car.

There are all sorts of smaller assumptions here—that the car can’t be fixed, thata

car can’t be rented, that there’s no other car the author can borrow—but those are
all covered in the main assumption.

The assumption fills the g2p between the premises and conclusion, and, in fact,
functions as an unstated premise:

My car broke down yesterday, and I need a car to get to work. There is no other
way to have a car. Therefore, I should buy a new car.

Brainstorming for the Argument Essa

y consists primarily of coming up with a list
of assumptions.

Three Common Types of Arguments
and Their Assumptions
As outlined in Chapter 6, there are three types of arguments you are likely

see. They are Sampling, Analogy, and Causal, Becoming familiar with these three

types will help you identify the assumptions in the argument more quickly when
the clock is ticking on the real test.

1. The Sampling Assumption

Asampling argument assumes that A s equal to A, B, and C, or that a small grQ“P

2.The Analogy Assumption
An argument by analogy assumes th

. sev will
at A = B or that what is true for one entity W
be true for another. To attack an ar

gument by analogy, simply show that the two

ing i . ne
nothing like each other. What is true for
r.

groups or places or individuals are
does not have to be true of the othe

3. The Causal Assumption
A causal argument assumes that A ca
will

. Ou
uses B, or that if you remove the cause; ¥
remove the effect. While there

. dB
may be a strong correlation between A an

i . B
it does not always follow that it is a causal relationship or that A is the cause of

To attack a causal relationship, point out that there are other possible causes for B
and brainstorm some possible examples.

?
Well, Great, But Why Do | Care? | o
You should care about taking apart the argument, and finding the assumptions ”i
particular, because the key to writing a great Argument essay on the Analytica
Writing section is ripping apart the argument.

« . ”»
i i the
Think about it. The official instructions on the test ask you to “critique !
i i es
author’s argument. However, if you claim that everything the author says ma

sense y()u won coOw ¢ an eSSay tllats more tha[l a fCW sentences lOIlg.

b
b

i i to tear the author’s
This means that in order to write a great essay, you'll need

argument apart.

Danger: The most common mistakfz .people r,nzkeh.u: ﬂlrln::lgcsz};;
Argumentessay is expressing their ow.n opinions. Di))n tk 'ot 1s.’Ihe PR
specifically asks you to give an opimofl anfi t'hen ac 1:1 ?g.wn
essay wants a critique of someone else’s opinion, not yo .

WRITING THE ARGUMENT ESSAY

i ries of steps.
Writing the Analysis of an Argument essay requires a s p

Step 1:  Read the topic and identify the conclusion and the premises.

iti i en) the argu-
Step 2: Since they’re asking you to critique (i.e., wea.k ) the & %OI
’ . . . ns.
ment. concentrate on identifying its assumpuo. .
’ weaknesses in the logic, and new

' in’ ument )
gaps in the arg , ¢ wasn’t present in the

. . .
information in the conclusion ‘th presen in e
ises. Brainstorm as many different assump
premises.

er or on the
can think of. Write these out on your scratch pap

computer screen.

mptions around
Step3:  Select three or four of the strongest assump

which to build your essay.

tions
Step 4:  Choose a template that allows you to attack the assump

in an organized way.

be learning in this chapter.

Step 6:  Read over the essay and edit it.

You will have 30 minutes
to plan and compose a
response to the argument
topic, s0 make sure to
budget your time wisely.

The Argument Essay
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Save the fancy prose for
English class! Your grader
cares more that you can
identify the parts of the
argument than for a clever
turn of phrase.
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Argument Essay.

WHAT THE READERS ARE LOOKING FOR

In the Analysis of an Argument topic section, vour job is to critique the argu-
ment’s line of reasoning and the evidence supporting it and to suggest ways in
which the argument could be strengthened. Again, vou aren't required to know
any more about the subject than would any normal person—bur vou must be able
to spot logical weaknesses. Make absolutely sure you have read and understood
the previous section abour taking apart the argument and that you can take apart
all the arguments in the drills in that section.

The essay readers will be looking for four things as they skim through your
Analysis of an Argument essay at the speed of light. According to a booklet pre-
pared by ETS, “An outstanding argument essay...clearly identifies and insightfully
analyzes important features of the argument; develops ideas cogently, organizes
them logically, and connects them smoothly with clear transitions; effectively
supports the main points of the critique; and demonstrates superior control of
language, including diction, syntactic variety, and the conventions of standard
written English. There may be minor flaws.”

To put it more simply, the readers will be looking for all the same things they were
looking for in the Analysis of an Issue essay, plus one extra ingredient: a cursory
knowledge of the rules of logic.

Doing the Actual Analysis of the Argument

In any Analyt‘ical Writing argument, the first thing you should do is separate the
conclusion from the premises.

Let’s see how this works with an actual essay topic. The following is the Analysis of
an Argument topic you saw before:

Topic:

The director of the International Health Foundation recently
released this announcement:

A new medical test that allows the early detection of a particular
disease will prevent the deaths of people ail over the world who
would otherwise die from the disease. The test has been extremely
effective in allowing doctors to diagnose the disease six months to
a year before it would have been spotted by conventional means. As
500N a5 we can institute this test a5 routine procedure in hospitals
around the world, the death rate from this disease will plummet.”

The conclusion in this argument comes in the first line:

A new medical test that allows the early detection of a particular
disease will prevent the deaths of people all over the world who would
otherwise die from that disease.

The premises are the evidence in support of this conclusion.

The test has been extremely effective in allowing doctors to
diagnose the disease six months to a year before it would have been
spotted by conventional means.

The assumptions are the unspoken premises of the argument—without whxcl;
the argument would fall apart. Remember that assumptions are often causal,

. . ) b
analogical, or statistical. What are some assumptions of this argument? Let’s

brainstorm.

Brainstorming for Assumptions tedic
You can often find assumptions by looking for a gap in th‘e reasoning. ¢ dlca
tests allow early detection”™ According to the conclusion, this medical test leads to

; : ’ e a gap here.
the early detection of the disease. There doesn’t seem to be a gap

In turn, the early detection of the

3 »
« . . .
Early detection allows patients to survive: . '
- ; Well, hold on a minute. Is this

disease allows patients to survive the disease.
necessarily true?

: . o
e First, do we know that early detection will necessarily lead to sufrvwal.
) .
We don’t even know if this disease is curable. Early detection of an

i ive it.
incurable disease is not going to help anyone survive 1
* SI::CCI(I):d will the test be widely available and cheap enough for general

. . . he
i i ilable in certain parts of t
use? If the test is expensive or only ava

i i ie from the disease.
world, people will continue to d‘ e The
*  'Third, will doctors and patients interpret the tc yhe
but if doctors misinterpret the results or if pat

test may be fine, test will not save lives.

i he
ignore the need for treatment, then t

. There’s a huge gap here in that there’s absolutely no

« . »
Death rate will plummet sease will immediately cause the death

explanation of how merely detecting t.he di o
rate from it to plummet. This area is r1pe for explor '
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Organizing the Analysis of an Argument Essay

We're now ready to put this into a ready-made template. In any Analysis of an
Argument essay, the template structure should be pretty straightforward: You're
simply going to reiterate the argument, attack the argument in three different
ways (each in a separate paragraph), summarize what you've said, and mention
how the argument could be strengthened. From an organizational standpoint, this

is pretty easy. Try to minimize your use of the word 7. Your opinion is not the
point in an Analysis of an Argument essay.

A Sample Template

Of course, you will want to develop your own template for the Analysis of an
Argument essay, but to get you started, here’s one possible structure:

The argument that (restatement of the conclusion) is not entirely logically

convincing, since it ignores certain crucial assumptions.

Firet, the argument assumes that

Second, the argument never addresses

Finally, the argument omite

Thus, the argument is not completely sound. The evidence in support of the

conclusion

Uttimately, the argument might have been strengthenedby _ —

The key to succeeding on an Anal

. . " the
ysis of an Argument essay is to critique
argument clearly.

How Would the Result of Qur Brainstorming
Fit into the Template?

Here’s how the assumptions we came up with for this argument would fit into the
template:

The argument that the new medical test will prevent deaths that would have'
occurred in the past is not entirely logically convincing since it ignores certain
crucial assumptions.

First, the argument assumes that early detection of the disease wil lead to an
immediate drop in the mortality rate from this disease, yet it does nothing to
explain how this will happen, etc.

Second, the argument never addresses the point that the existence of this new
test, even if totally effective, is not the same as the widespread use of the test,

etc.

Finally, even supposing the ability of early detection to save lives ar‘la' the wséc-
spread use of the test, the argument still depends on the doctors correct inter-
pretation of the test and the patients’ willingness to undergo treatment, etc.

Thus, the argument is not completely sound. The evidence in 5upport of the con-

clusion that the test will cause death rates to plummet does little 10 prove that
conclusion, since it does not address the assumptions already raised. Ulmmauily,
the argument might have been strengthened if the author could 'have 9‘howln that
the disease responds to early treatment, which oan be enaptcd nmmewathc N uppdn
receipt of the test results, that the test will be widely available around the world,

and that doctors and patients will make proper use of the test.

Customizing Your Analysis of an Argument Template

i it will always include
Your organizational structure may vary in some ways, but it wil Y

the following elements: The first paragraph should- sum up t:C 3’?»”:2’]‘[ :;‘:j“:}i:
sion. The second, third, and fourth paragraphs will artap t v:hiig:(,u‘vc o
supporting evidence. The last paragraph should Summanz:omc alternate ways of
state how the argument could be strengthened. Here are y

organizing your essay:

Variation 1

Ist paragraph: Restate the argument.

or lack thereof) between the conclusion

2nd paragraph: Discuss the link (

i it.
and the evidence presented in support of

3rd paragraph: Show three holes in the reasoning of the argument.

£ the three holes could be plugged up by

missing assumpuions.

4th paragraph: Show how each o
explicitly stating the

The Argument Essay
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Variation 2
Ist paragraph: Restate the argument and say it has three flaws.

2nd paragraph: Point out a flaw and show how it could be plugged up by
explicitly stating the missing assumption.

3rd paragraph: Point out a second flaw and show how it could be plugged
up by explicitly stating the missing assumprtion.

4th paragraph: Point out a third flaw and show how it could be plugged
up by explicitly stating the missing assumption.

5th paragraph: Summarize and conclude that because of these three flaws,
the argument is weak.

Write Your Own Template for the

Argument Topic Here
Ist paragraph:

2nd paragraph:
3rd paragraph:
4th paragraph:

5th paragraph:

&i@:if ﬁafy to Write an Argument Essay \

gaps thatPWe E t }c: conclusion from the premises. You've brainstormed for ¢ ’C

ceppory thea enlt ¢ argument. You've noted how the premises support (or dc.)nt

cach of the £ :l:)nc ufsilon. Now it’s time to write your essay. Start typing; indemm%

Remember to lzor ve paragraphs. Use all the tools you've learned in this chapter:

read o €€p an eye on the time, Again, if you have a minute at the end:
Ve your essay and do any editing that’s necessary.

What To Do with Your Time

Now that you know how to construct your essay, you have to practice writing
essays in a mere 30 minutes. Here’s a guideline for how to use your time:

»  Break down the argument: 3—4 minutes
e Find 2-3 assumptions: 3—4 minutes

*  Write essay: 18—20 minutes

e Proofread: 1-2 minutes

Notice that not a lot of time is allotted for proofreading. Remember that it’s okay
to have minor spelling and grammatical errors. Your time is better spent making
sure you consider both sides of the issue completely and write an effective essay.

Practice: Writing an Argument Essay

Practice on the following sample argument topic. If you have access to a computer,
turn it on and start up a word-processing program (again, you may want to use a
very rudimentary one like Notepad to simulate the ETS program you'll see on the
real test). Then set a timer for 30 minutes. In that time, read the topic, brainstorm
in the space provided in this book, then type your essay into the computer.

A Sample Argument

The market for the luxury-goods industry 5 on the decline.
Recent reports show that a higher unemployment rate, coupled
with consumer fears, has decreased the amount of money the
average household spends on both essential and nonessential items,
but especially on nonessential items. Since luxury goods arye, by
nature, nonessential, this market will be the first to decrease in the
present economic climate, and luxury retailers should refocus their

attention to Iower—priced markets.

Conclusion:
Why? (premises)

Assumptions:

When writing your essay,
make sure to use terms

like “causative,” “analogy,”
“sampling” and so forth.

Nothing impresses an
ETS grader like a
sentence like “The
argument assumes the

sample is representative.”

The Argument Essay
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Ways you can pull the argument apart:

Ways the argument could be made more compelling:

Now use the template you developed carlier in this chapter to type your
essay on the computer.

How to Score Your Essay

It’s time to put on your essay-scoring hat and prepare to grade your own essay.
(Again, if you're lucky enough to have a friend who is also preparing for the GRE,
you could switch essays.) You'll need to be objective about the process. Remember,

the only way to improve is to honestly assess your weaknesses and systematically
eliminate them.

Set a timer for two minutes. Read the essay carefully bur quickly, so that you do
not exceed the two minutes on the timer,

Now ask yourself the following questions about the essay:

L. Overall, did it make sense?

2. Did you address the argument directly?

3. Did you critique the argument thoroughly?

4. Did your introduction paragraph repeat the argument to establish the
topic of the essay?

Z. Did you avoid injecting your own opinion into the essay?

Did your essay have three strong paragraphs critiquing the
arguments?

7. Did your critiques make sense?

8. Did you flesh out your points to make the weaknesses of
the argument explicit?
13. Did the examples apply directly to the topic?

Did the essay have a strong conclusion paragraph?
11. Wias the essay well organized?

12.  Did you use language thar made the organization of the essay
obvious?

13.

Did you use correct grammar, spelling, and language, for the most
part?

14, Wias the essay of an appropriate length (four to five paragraphs of at
least three sentences each)?

If you could answer “yes” to all or almost all of those questions, congratu.lations!
Your essay would receive a score in the 5-6 range. If you continue to practice, and
write an essay of similar quality on the Analysis of an Argument essay on the real
test, you should score very well.

If you answered “yes” to fewer than 12 of the questions, you have room for
improvement. Fortunately, you also know which areas you need to strengthen as

you continue to practice.

If you answered “yes” to fewer than 5 of the questions, your essay would not score
very well on a real GRE. You need to continue to practice, focusing on the areas of
weakness that you discovered during this scoring process.

There are more Argument topics for you to practice in the l?ack of t%lis book, but if
you'd like to practice even more, go to www.gre.org and view the list of reall};zr%lg-
ment topics. You cannot possibly practice writing essays on a‘ll of thesehreil1
topics, so don’t even try. However, you should spend time r.eadmg through them to
become familiar with the variety of topics that ETS may give you.

Just Keep Practicing

So now you've read everything you need to know about writing high-scoring
essays on the GRE. With a little practice, writing these essays should becocrine
second nature, and you’ll find yourself sitting at the word processor on test day

confident and prepared. Keep it up!

The Argument Essay

in
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Summary

Always start by identifving the conclusion of
the argument.

Look for the common types of arguments:
Sampling, Analogy, and Causal.

Brainstorm all of the assumptions that attach
the premises to the conclusion.

Outline your essay on vour scratch paper before
you start writing,.

Leave yourself two minutes to proofread your
essay once you are done writing.

Part V

Answers and
Explanations to
Drills and Practice

Sets
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CHAPTER 4: TEXT COMPLETIONS

Practice: Finding the Clue (Page 50)

I

Your words: bad, tortured, negative; Underline: reflected in the harrowing nature
Your words: highest, lofty, vallest; Underline: second highest mountain in the world, reaching more than 28,000 feet high
Your words: dangerous, deadly, deleterious; Underline: wind-chill warning, minus 25 degrees Fahrenbeit or lower

Your words: leftovers, remnants, remains; Underline: 70-year-old from World War 11

Your words: disti. j issimi .
s: distinct, differens, dissimilar; Underline: mammoths were hairy with long tusks, while mastodons had low-

slung bodies and flaster shkulls

Your words: practi ' it i
f : cal, pragmatic, apolitical; Underline: pe crafied his policies not with an eye toward their politicd
consequences but instead toward their practical effects

Your words: amount
: D) ) . L
olume, preponderance; Underline: be imagined that he'd have to read for hours and hours each

day to finish it all

Your words: derived, obtained, borrowed: Underline: from the Arabic word Algol.”

Practice: Clues and Triggers (Page 53)

1.

Your words: 1 i
ords: poor, disastrous, bad: Undetline: t0p talents, ended his career: Circle: but

Your words: praise, accolades, thanks;

. Underline: . . . 1 risis
Circle: work; she derline: she brokered a diplomatic solution to a potential %

Y . :
our words: healthful, beneficial, good; Undetline: detrimental 10 one’s health; Circle: While

.

Y . . ..
our words: graceful, beautiful, positive; Underline: ugliness and clumsiness; Circle: A Ithough

Your words: gauge, i . :
gauge, sign, portent; Underline: yse /yolia'ay sales to gauge future stock prices; Circle: prices; thus

Your words: negativi mosi
: negativity, animo. ; .
ganvity, sity, antagonism; Underline: ironic, negative view; Circle: while, rarely
. 1)

YOUI' wordS"toxicity dd g 7 rdy ”ndcr de ( ects; unjor tunaie -J
. 'y nger, /TdZd y .ne’ z/agtatin effects on insects, rcle: ins
’ ll ’ g ﬂ‘ 7 ; i l : ] ; f
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Text Completions Drill (Page 56)

L.

3.

B

A

SOITOW

The trigger despite tells you to change direction from the clues smile and jauntily. The blank must be something sad.
Only sorrow fits. Jubilance and liveliness are the opposite of what would fit the blank. Vision is not a change of direction

from smile.

scant

Ruthless is your clue here. Whether they're capitalists or sharecroppers, ruthless people would have little regard for
others. Mixed and inconsistent imply variations in the capitalists’ feelings, so toss those choices. Meanwhile, undue
and obtrusive are extreme and take the sentence in the wrong direction. Scant fits best.

static

The semicolon in this sentence acts as a same-direction trigger, which indicates that what follows should continue

the idea of “stability versus change.” To keep the flow, you'll need replacement words for the opposing pair in the
first clause. You already have different to stand in for change; you'll need a word that describes stability to go in the
blank. Try stable and use POE. An even shorter way to crack this is to use the trigger word yet, which tells you that
the word in the blank contrasts with different. In cither case, static is the only choice that makes sense.

prodigious

ues and industrial output...rose exponentially,” which tells you the ripples
values and output, while neither invaluable nor incredulous makes

implies a negative economic outcome, something unlikely if values

The clue in this sentence is “property val
were large. Persistent doesn’t address the rise in
sense in the blank’s context. Severe, in contrast,

and output were increasing

stolidity

. b
"The clue in the sentence is inured, which means toughened to the point where one doesn’t respond. If the voters are
inured, then they would not have a strong reaction, so a good word for the blank might be stoicism or ambivalence.
) . ’ J
Stolidity is the best answer. Eliminate amazement, exasperation, and alarm because they don’t fit. They're not confused

by the tax, so eliminate perplexity.

contradiction

is “divisi i i ? a word similar to discrepancy. Contradiction is the
The clue is “division between child-rearing goals.” Therefore, find pancy

closest match for discrepancy.

Text Completions Practice Set (Page 63)

L.

E

scrumptious
irecti lue “did not appeal.” Sean expected the donuts to be gross,
i 11 to change direction fromthec ccte iC
ghe Lflgfger tjtb}::ibtt;ts Y(I)J‘(l)ok for an answer that means fasty ot yummy. Only scrumptious matches. Unappetizing,
d:;estzbzuzndt b arey.the opposite of yummy. Although Sean may have been gleeful, the donuts themselves would

not be.

Answers and Explanations to Drills and Practice Sets I 3715



2. A timid and F upset

"Try working with the second blank first. The clue is “using recorded bird calls makes the California enatcatcher

easier to observe.” The trigger although reverses the direction of the clue. Therefore. find a word similbar to a’istur.b”
Eliminate direct and increase because they go in the wrong direction. The clue for the first blank is “easier to obscrve;
Thus, the recorded calls must make the bird less ard to observe. Only timid goes in the right direction. ‘

hostile and D obvious

i[he word bolzfiever is a trigger that tells you that the senzence changes direction. It’s likelv that sparring between two
aw . . [ . . » . . ’

yers would appear negative in some way and that “the friendship” will be described positivelv. Hostile sparringis
a direct contrast to an obvious friendship. '

inhibits, E thrived, and I abandoned

The three blank .
S $ V;?r: toge;her to complete the sentence. Socialism “emphasizes collective ownership of the means
uction i indivi : o R .
thal: . th) W }icd.wou‘d likely hurt individual expression. Put limits in the first blank; snhibits is only choice
in ; L o . ,
g ¢ right direction. Given this information, individualism would decrease if socialism persists and likely

increase if socialism is given up. Find a pair of i 1 .
: . pair of words for the second and anks th: '
Only diminished and abandoned make sense together. rordand e burks dhat s one s o

casual, D employing, and I discarding

Start with the second « >
Ly with blank. The Flue tool users” tells you the blank means use. Ounly employing fits. For the first
» it humans used whatever sticks and stones seemed ¢ 1 h ‘ yori k
wsers, Only camad o o s onvenient, then they were pretty lazy or impromptu t00
e 1001-( fOf thet (ir hblank, these casual humans would use the tool, but then get rid of it when they
. ora .
) word that means to throw away. Only discarding fits. Annibilating is too extreme.

flamboyant

The colon is a pun. i : .
ctuation ; : .
P trigger that indicares thar the clue is almost certain to follow. The clue is ‘aurended

fashionable parties, wore flashy clothi ’ .
Hlamboga s che e sy y clothing, and dated other men’s wives.” You need a word that encapsulates all of this.

maladroit and E tyro

The clue for the first blank comes in the y
i

should feel awkward, making maladrois ch

usually ephemeral,” signaling the reversal of the be

« .
and “soon gives way to mastery,” it becomes eve
someone learning a new skill. The on]

“ P
phrase “the initial sense of awkwardness.” Thus, developing a new sk

- b ‘ |
ginner's awkward phase; taken together with is usually ephcmeral
n clearer that the last blank needs a word thar indicates the status®
y word that comes close is tyro.

tautology and E prestidigitation

this choice.
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. “r
e best choice. For the second blank, however acts as a trigger word before is

9. B quotidian

10.

The clue is “tremendous humanitarian consequence.” The trigger is however, which reverses the direction of the clue.
Therefore, find a word similar to mundane. Fascinating does not mean mundane. If you don’t know guotidian, you
can still use POE to narrow the choices. Choices (A) and (D) clearly do not mean mundane, nor do answer choices
(C) and (E).

complaisant and D meddlesome

Begin with the first sentence. The clue is that “Gomez seemed 2 pleasing combination.” Notice the trigger word and
following affizble. The clue and trigger together mean that something positive and complementary to affable should go
in the first blank. Choose complaisant. Whatever goes in the second blank can’t be good, because the trigger however
reverses the nice things said about Gomez in the first sentence, and officious is negative. Choose meddlesome for the

second blank.

CHAPTER 5: SENTENCE EQUIVALENCE

Sentence Equivalence Drill (Page 71)

1. C modern and E contemporary

3.

B

The trigger or tells you to change direction from the clue ancient. Look for words that mean modern. Modern and

contemporaryare the only words that mean modern. Antiquatedand archaicare the opposite of what's needed. Perceptive
. . ,

and astute are a good trap pair because they are similar in meaning and fit the incorrect clue of observer, but you don’t

know that ancient observers were not perceptive or astute.

innate and F instinctive

. o« G« . . ”
The blank refers to personality characteristics that interest researchers. The clue is “those that arise through experience.
The use of compared to indicates that the blank is the opposite of the c,luc, so the bla‘nk has to mean inborn. Innate
and instinctive have the same meaning as inborn. The other words don'’t fit the meaning.

aberrant and D unconventional

The blank refers to Mackenzie King's behavior. The clu
which would be an abnormal behavior. Aberrant and b :
and Lackluster don’ fit. Poised and decorous describe appropriate or

eretical are the only words with a similar meaning. Repulsive
formal behavior, so they are more nearly opposites

of what’s needed.

dynamic and F fluctuating
ions must be changing. Dynamic and fluctuating fit

¢ of examples tell you that the condit ”
ting. Timorousand cowed mean that the conditions

her choices fit. Inveterate means persis

The clue adaptability and lis
this meaning. None of theot
of life are fearful. Turgid means complex.

Answers and Explanations to Drills and Practice Sets

¢ is “often used séances to contact his dead pet dog for advice,”
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5. B commandeer and F appropriate

Thhe main clue is that the armed forces were “without an adequate number of vehicles of their own,” strongly suggesting

tZ e;:i they were looking to get some more. Secondary clues are that time was of the essence—*days after Hurricane
» )

clda had passed”—and the very fact that the subject of the sentence is armed forces, a group capable of taking whatit

wants. This all adds up to something like seize for the blank. Commandeer and ate (th jecti
both mean this; none of the other words does. e prprite e vt otcheadicid

Sentence Equivalence Practice Set (Page 76)

1. B affinity and F predilection

‘:}[1}-16 vl:oril in the b'la{}lf is 'used to describe Jim’s feclings for gumdrops. The clues “enjoved all kinds of candy” and
is absolute favorite” indicates that the blank means liking. Both affinity and predi/ecttjon mean liking. Odium and

disregard go in irecti . . .
gar 8 the wrong direction. Container might sound right, but it is not related to the clue. Nature does not
mean liking, :

fiasco and B debacle

Th 1 1 )

o 5:1 ?Ekfaci;);rcee’r’nl; the lerllght brothers’ first attempt at flying. The clue is that they “subsequent efforts similarly

and frath h‘ ecycle the cl}le, ancli put failure in the blank. Fiasco and debacle are the best matches. Triumph
ave the opposite meaning. Hindrance isn’t close enough, and precedent doesn’t mean failure.

diminishes and F wanes

The clue “due to the additi »
itional demands suggest i i i
s that fuel efficiency is likel i minih
elv to . Diminishes
and wanes both mean decreases. Eliminar, ! e i

i e equalizes and stabilizes i s out.
Adaprs and increases don’t fit the clue, and neicher h because they mean the fuel efficiency even
’ ¢r has 2 synonym among the other answer choices.

malicious and F churlish

The trigger belied tells you to change direction from
and nice, but he is actually unfriendly and mean
Malicious and churlish fit this meaning. Gregarim;
insipid don’t go in the right direction—he is bad,

the clue “outwardly amiable disposition.” He seems friendly
as the actions described in the second part of the sentence attest.
s and affable are opposite of unfriendly and mean. Innocuous an
not bland.

servile and C obsequious

This asks what a language with humble and hono
more egalitarian phrasings,” one from a culture jn
abasing forms of speech might sound overly deferen
answers, both of which connote excessive humilj
about revealing information rather than with bein
speech but are otherwise not close to whar the se

rific forms of speech might sound like “to an ear accustomed 0
which one is gener ally free to address others as equals. Such self
tialor just 100 polite. This leaves servile and obsequious as the correct
ty. Circumspect is close, but it has more to do with being car¢ ul

g careful about showing respect. The other possibilities do describe
ntence calls for.
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CHAPTER 6: READING COMPREHENSION

Reading Comprehension Drill (Page 105)

1. C

According to the last paragraph, “To move beyond subsistence level farming, new ways to transport excess crops to
market had to be found. The development of canal systems as well as an expanded and improved roadway system
facilitated transportation.” In other words, the infrastructure of canal systems and roadways allowed excess goods to
be more easily transported and made it possible for the revolution to take hold.

According to the passage, “The term ‘revolution’ has been reserved by most historians for social upheaval characterized
by bloodshed, the use of force, and great technological change.” The author goes on to state that he agrees with
Cornwall that “the term can be extended to apply to the massive agricultural transformation that took place in the
mid- to late- eighteenth century.” We can infer from this statement chat historians generally did not view agricultural
is incorrect because the second paragraph notes that the practice of

changes as revolutionary. Answer choice (B)
. with the use of the term disastrous, is too extreme.

enclosure facilitated the agricultural revolution. Answer choice (C)
No evidence is provided in the passage to support choices (D) or (E).

- »
3. “To combat soil exhaustion, farmers would be required...

ad word to help you find the answer—communal. 1f you search for the word communal in
“Prior to the mid-cighteenth century, farming was a communal activity in
where, and when to plant.” The next sentence tells us the problems inherent

This provides a great le
the passage, you will see that it states,
which the entire village decided what,

in communal farming.

? i “ornwall was
The author says that “Robert Cornwall cogently argues..., and the rest of the passage explains why Corn
- it means convincingly. Therefore, the best answer

right. Thus, you can infer the meaning of cogently from the passage;
is choice (A).

mic classifications should be used in conjunction with other
both observed and accepted data, which would include
ly the taxonomic information. Choice (C) is

Choice (B) is correct. The author states that taxono
information about the animal. In choice (B), the team uses

classification. Choice (A) is incorrect because the scientists a.rc u§e onl e :
incorrect because the zookeeper uses only observed information, ignoring the taxonomic information.

y several facts and make a point about the appropriate use of classifications. Because didactic

means “intended to instruct, that's pretty close. Choice (A) is incorrect because nothing in the passage indicates that

’ N . - . . .

the author is upset. Choice (C) is incorrect because the author has a definite opinion on the matter. Choice (D) is
uthor is .

incorrect because the author does not sound sad. Choice (E)

The author tries to conve

Answers and Explanations to Drills and Practice Sets

i« incorect because the passage does not praise anything.
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7. “The appearance and habitat of the moon rat are actually...”

’Ih b . . . . ~
he auth?rs conclusion is that you have to look at a variety of different types of information to get an accurate
picture of the moon rat. The correct sentence mentions that, although the moon rat is similar to the other animals

in its faml’ly in some ways, it’s dissimilar in others. This demonstrates that the classification alone does not give an
accurate picture, which leads directly to the conclusion.

Laudatorymeansexpressi i i ;
essing pr. -
- }?e/ means kP ' igl praise, which you can surmise from the second paragraph. Approbativealso meansexpressing
, y making it the correct answer. Choice (B) is incorrect because analytical doesn’t mean expressing praisc.

Choice (C) means not affected b i i
: y personal or emotional involvement. Choice (D i
typical example of. Choice (E) means leaving no doubr. ¢ (D) meansan ousandinly st

9. “Critics rightly praised the book’s vivid accounts of tribal beliefs...”

10.

The usage of the word “rightly” shows that the author approves of the critical praise Achebe’s book received.

EE:CSE; [s) 225?}’21 ;’f thf sts;zgg CXPl‘fl“S why {\Chcbe decided to write Things Fall Apart. The second paragtaph
st b et EX;ISC c he e received for his work. The final paragraph explains some of the criticism Achebe

ove in hoi - Answer choice (A) focluscs only on the first paragraph and is too specific. The use of the word
? answer choice (C) is too strong. Neither choice (D) nor choice (E) is supported by the passage.

Practice: Identifying Conclusions (Page 111)

1.

“it is unlikely that the new defense bill will pass”
“grass was not a significant part of the dinosaur diet”
“automaker X will have no choice but to file for bankruprcy”

“country Y wi i i i
y Y will experience a decrease in obesity-related health problems”

[{¢ .
machines wil
I'soon outnumber humans as the number-one users of the Internet”

Practice: Finding the Premise (Page 115)

L.

Premise: A biparti
: tisan grou
p group of 15 senators has announced that it does not support the legislation

Premises:

(1) “The earliest known grass fossils date from approximately 55 millio »
€y i . n years a
(2) “Dinosaurs most likely disappeared from the earth around Y g0

: 60 milli »
3) “fossiliz i : ion years ago
3) ed remains of dinosaur teeth that indicate the creat

ke
ures were more suited to eating ferns and palms
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Premises:

144 3y . . . »
(1) “company’s poor financial situation

(2) “the workers at automaker X are threatening to go on strike”

Premise: “the leading members of the nation’s food industry have agreed to provide healthier alternatives, reduce
sugar and fat content, and reduce advertisements for unhealthy foods”

Premise: “Recent advances in technology have led to a new wave of ‘smart’ appliances”

Practice: Locating Assumptions (Page 119)

L.

Conclusion: There will be no decline in enrollment at the University.

Why?
Premise: The University plans to hire two highly credentialed biology professors to replace Professor Jones.
Assumption: That the two new biology professors will be at least as attractive to prospective students as was Professor

Jones.

Conclusion: It makes no sense to charge more to Customers under 25 years of age who rent cars.

Why?
Premise: Most states allow people as young as 16 to have a driver

to vote.

's license and all states allow 18-year-olds the right

Assumption: Because people under the age of 25 have the right to vote and drive there is no reason to charge them

more to rent a car.

Conclusion: Roughly 12.5 percent of planets in the universe should have life on them

Why?

Premise: In our solar system,
planetary systems in the universe have the same proporti

there are eight planets and at least one of them has life on it.

Assumption All on of planets with life on them as does our
u :

solar system.

Conclusion: The leaders of State A should institute the gas tax.

Why?
Premise: 58 percent of voters in Township B approve of a proposed 2-cent gasoline tax.

Assumption: The opinion of Township B is representative of the opinion of all of State A.

Answers and Explanations to Drills and Practice Sets | 381



Critical Reasoning Practice Set (Page 133)

L. A

3. C
4. E
5. A

If the conclusion is that it is unlikely that a sufficient number of parts will be available, and the main premise is thar
the number of factory returns is decreasing, the assumption must be that parts come from factory returns. Choice
(A) correctly identifies the gap in the argument. Choice (B) is extreme. Note the use of the word will Y.ou don't
need anything that strong to hold the argument together. For choice (C), how many people decide to. purchase a
refurbished unit is out of scope because the argument is about the actual process of refilrbishing. For choice (D), the

o , . . .
anufacturer s predictions are out of scope. For choice (E), be suspicious of the word every. You don't need to assume
anything that extreme to connect the premise to the conclusion. '

The c.onc.lusion is thar the apprehension about the dumping of liquid waste from 1983 to 1993 is unwarranted. The
premxéc is that tests performed during the 1960s showed little or no contamination. The argument assumes that the
dun;:pmg that took place during the 1960s is comparable to the dumping that took place‘ from 1983 to 1993. To
vsl/lea en the argument, find a reason why the two time periods should not be compared. Choice (A) points out that
the amount of dur.npmg during the 1960s was significantly less than that from 1983 to 1993. For choice (B), the
greater concentration of contaminants would strengthen the argument. For choice (t), solid waste is out of scope.

For choice (D), the “eff i ists”
o argumeng efforts of environmentalists” are beyond the scope of the argument. Choice (E) would strengthen

N , .
cooperation as stated in choice (C) ForS C;VF m(/)\re auton(‘)mou.s departments, and so they require a higher level. of
Choice (B) gets the information bac‘kwardso"lfclf o 'tllllere o mfo‘rmation in the passage about generalized polcy
because demmocraticgovemnmennh - there will be more specialized policy makers in democratic governments

avemoreautonomous departments. Choice (D) also gets theinformation backwards.

The argument leads us to believe that an adm vernment. Fo
s to believe that ini siob i For choi
: . Inistrator’s job is more dj i i r choice
(E), efficiency is out of scope J difficult in a democratic government.

eopl
f98§ :nze;;;fif:: (rilot? a[éVRZIESS frequently. Choice (E) explains that the number of retinal irritations berween
the irritations is out of sco CC“; yhthe level of UVRs in that time period. For choice (A), the temporary nature of
pe. For choice (B), the atmospheric elements are out of scope. For choice (C), the decrease

in the average level of exposure does n i ise in irri
9 et ot explain the rise in irritations, For choice (D), anything that happened aftet

than would have been consy i
med b i .
y the r unning engine, then the scientific study becomes understandable. For choice

(B), the am ffue ; .
ount of fuel consumed to bring the €gIne up to running speed is out of scope. For choice (C), the decreast

in output for the engine is out of
of scope. For choice (D) m For
. , the releas i i f scope. %0
choice (E), why people use their cars is oyt of scope ’ o ases ntothestmosphere s out 17
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The argument concludes that the improved surgical techniques were responsible for the increased longevity of those
diagnosed with stomach cancer. The premises are that more people experience complete remission and that improved
surgical techniques were developed. The argument assumes that there was no other cause for the increase in longevity.
Choice (B) strengthens the argument by eliminating an alternate cause. If the percentage of advanced stage cancers
was the same before and after 1982, a decrease in the cancer rate could not have been the reason for the increase
in longevity. For choice (A), people having more surgery in the early stage would provide an alternate cause and
weaken—not strengthen—the argument. For choice (C), if a greater percentage were diagnosed, that would provide
an alternate cause, and weaken—not strengthen—the argument. For choice (D), the frequency of stomach surgery
among the general population is out of scope. For choice (E), other improvements would provide an alternate cause

and weaken—not strengthen—the argument.

CHAPTER 7: VOCABULARY FOR THE GRE

Group 1 Exercises: Matching (Page 145)

L C 6. L 1. M
2. ] 7. X 12. 1
3. E 8. B 13. D
4 G 9. N 14. F
5. A 10. H

Group 2 Exercises: Matching (Page 149)

. B 6. A . H
2. M 7. D 12. 1
3. F 8. E 13. G
4 ] 9. L 4. K
5. N 10. C

Answers and Explanations to Drills and Practice Sets
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Group 3 Exercises: Matching (Page 152) 2
1. D 6. A 1. E Because 9 = 3% the original equation becomes 3 x (3%)? = 3% or, 3* x 3* = 3% or, 3" ** = 3", Therefore, x = 27.
2. G 7 C L B 4. C
3 K Solve for x by stacking up and adding the two inequalities. In so doing, the y variable from each inequality cancels
: 8. N 13. ] out, and you get 3x > 36, or x > 12.
4.1 9. H 4. L > A

5. M 10, F You have the relationship among can prices, but no actual numbers, so try plugging in some numbers for can prices.

’ The calculations will be easy if you make the large can cost 5 x 7 = $35, which means that the medium can costs
35+ 5 = $7, and the small can costs 35 + 7 = $5. The amount of money that would buy 200 medium cans is
200 x $7 = $1400. Because the customer buys the same number of small and large cans, she spends $40 on each
small-and-large can combination. Divide $1400 by $40 to get the number of sets she buys (§1400 + $40 = 35). She
buys 35 sets of small and large cans, which means that she buys 35 small cans, choice (A).

o 6. B M 6. 12and -12
2. L : To isolate (x + 3), take the square root of both sides. So, (x + 7) = +4. Solving the same way for (x — y), you get

7] 12. D (x — ) = 3. Substituting into the difference of two squares equation (x> — y°) = (x + y) (x — y), you get
> N (@ — ) = (¢4)(¢3), or a value of 12 or ~12.

5 A 13. H -
" e G 14. F |
> K Translate the equation. 32 = 66 — 4. Because the asks for the value of 2 — 26, go ahead and rearrange your equation

10. E
3a—-6b 4
50 the 2 and b are on the same side. 32— 66 = _4. Next, divide both sides by 3. 3 =- —3— .

Simplify each quantity by rationalizing the denominators. For Quantity A, to get rid of the radicals, multiply numerator

CHAPTER 9: NUMBERS AN
D EQUATIONS M

and denominator by(\/_5— +~/2), because (x—))x +y) = ¥’ —~ 5. You now have \/_5_2 T S
W2 +5)27)

Numbers and Equati i
ons Drill (Page 217
26 . : i 2
1. A B,and D ) = iﬁg——\/: For Quantity B, multiply numerator and denominator by\/—7— to get \/572
2 1
Follow PEMDAS, and simplify each : 2 , J5i 135 3B 35 Joris QuantityAis (V15 + v8) x5 and Quantiy Bis (V15 +V/6 ) x .
PUty each answer choice. For choice (A), g x 33— 12 = 22 — 12 = 10, so choice (A) is —57——— = 27 9 3 9

correct. Choice (B): '% x 51 —24 = 34 1
3 =34 -24 =10, and choice (B) is correct. Choice (C): 33 —22 x 1 27 -3

0 # 10, so choi i i
Choi *0 choice (C) is wrong. Choice (D): 51 + (17 x 3)+9=51+514+9=14+9= 10, and choice (D) is correct
oice (E): (51+17)x3+9=343, 9=9+9=18, 50 choice (E) is wrong

so Quantity A is greater.

Solve for by subtractin i
g 7 from both sid i |
toget - 16 = -10. Add 16 to both sidils :Z (f)iilt;lz Ersg o237 = 16. Plug a - 16 n for he ol
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9. D /
(IO)LS + (; ]
PlugIn. If2=3,6=06,c=3,d=5,and ¢ = 10, the value of the equation iS—T; =10 Half of 10 is your

target of 5. Try doubling each variable to find the one that yields 5. The only one that works is doubling 4 0 100
6

(10)(3 + —)

_\ 3

that the equation is
10

:5'
10. A,B,and E

You have variables in the question and variables in the answers, so Plug In. If x = 6, then « = 2, and if y = 36, then
b=4.2x +y)‘cquals 84, so that is your target number. Check your answer choices. A = 48, B = 60, C = 84, D = 84,
and E = 96. Since we're looking for the ones that don’t equal 84, the correct answers are A, B, and E.

CHAPTER 10: REAL WORLD MATH

Real World Math Drill (Page 260)

1. A
Plug In for 7. If r = 2, we can now solve for 5. 32+ ) =7, 2 4 s = Z 5= 7 2. Convert the 2 to a fraction and get
3
781 Gow !
S§= — —-——=—, M .
37373 o through the answer choices, Plugging In 2 for . Choice (A) yields the target of 5
, 1
"6

) . 1
Plugging In your own number is a good way to tackle this. The fractions used in the problem are L and_z—’ and
3

multiplying the denominators will produce a good number with which to work. Sadie started with 6 paintings and

gave away one third of them: 6 x !

3 - 2. She has 4 paintings left. She then sold another half of the original 6: 6

_ ) . 1
S = 3. So, she’s has 1 painting left, or g of the total.
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3. B,C,and D

A $20 scarf can be discounted as much as 50 percent, and $20 x 100 ° $10, so the minimum sale price of a scarf

25 .
is $20 — $10 = $10. The smallest discount is 25 percent, and $20 x m = $5, so the maximum sale price of a scarf
is $20 — $5 = $15. You have determined the range of possible sale prices for scarves is $10 to $15. Now, you need to

eliminate answers that fall outside of that range: Choice (A) is too small, and choice (E) is too large.

4. C
. . . 12 12 %35
To find the value in each column, translate the words into arithmetic. Rewrite Quantity A as ﬁ xX35= 100
35 35x%12 L . . _ .
and Quantity B as -la)- xX12= 00" The expression in Quantity A is the same as the expression in Quantity B.
5. A

Use the bowtie to compare the quantities: Multiply opposing numerators and denominators, and compare the resulting
products. Think of Quantity B as19 . Multiply 2.6 x 1 to get 2.6 on the Quantity A side. Multiply 0.259 x 10 to
1 . .

get 2.59 on the Quantity B side. Because 2.6 is greater than 2.59, Quantity A is greater.

The population rankings for Year Xare: (1) Massachusets, (2) Connecticut, (3) Maine, (4) Rhode Island, (5) New
Hampshire, (6) Vermont. And for Year Y- (1) Massachusetts; (2) Connecticut; (3) Rhode Island; (4) New Hampshire;
(5) Maine; (6) Vermont. Maine, Rhode Island, and New Hampshire have different rankings from Year X to Year Y.

In Year Y, Vermont’s population is 3 percent of 25 million (or 0.75 million), and Massachusetts” population is

37 percent of 25 million (or approximately 9 million). 9 million is what percent of 0.75 million? Now translate:

X
dlion = —— x 0.75 million: x = 1,200.
9 million 100 x

was 10 percent of 15 million, or 1.5 million. In Year Y the population of

ion of Rhode Island
In Year X the population of Rho or 3.75 million. The increase was 2.25 million, or 2,250,000.

Rhode Island was 15 percent of 25 million,

The percent change of Connecticut’s percent of total New England population from Year X (24 percen) to Year ¥

3 12.5 percent. The percent change of Massachusetts's percentage of toral New England population

(27 percent) is: 7

3 , . .
o .Th imate difference is 5.
from Year X (40 percent) to Year Y (37 percent) is: %0 7.5 percent. The approxim
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10. D

You are given that towns 4 and B each have 3,000 supporters of the referendum and that 8 and D have an aver,
of 3,500 supporters. Using the average circle you find out that D has 4,000 supporters. You know nothin aboul:lgCC
Because C'and D are the two southern—most towns, we cannot tell wha cheir average is. For example, if g had zero‘
supporters, the average of Cand D would be 2,000, which is less than Quantity B. If C had 4,000 S;l orters, th
average of C'and D would be 4,000, which is greater than Quantity B. / ' e

1. E

P.lug In the answers, starting in the middle with choice (C). If each A employee was given $740, each Cemployee was
given half of that, or $370. Each B employee received one-and-a-half times the C raise, so 1 5 x $370 = 3[)55;’ Now
calalllate the total money spent on raises. 50 A employees got $740 each, for a toral of %0 x .5740 = $37,000. .100 B
;}Ilne[zeo}’szs got $555 CéiCh, for a total of 100 x $555 = $55,500. 150 C employees got $370 each: 150 x $370 = 55,500.
biggeraans‘l;irto l:utlc;tz (:f ilfliS,OOO, but the problem says that the total raise amount is $500,000. You need 2 much
g $1.2 ut choices (A), (B), and (C). Try skipping directly to (E). If the A workers got $2500, the C

ers got $1250, and the Bworkers got $1875. 50 x $2500 = $125,000; 100 x $1875 = $187,500; and 150 x $1250
= $187,500. Because these numbers add up to $500,000, choice (E) is co,rrect. | o

12. 19

Plug I : . _
ug In $100 for the price the retailer pays for the item. This means the original selling price is 40 percent more, or

$140. T L
o 0 ﬁr;d t};el recﬁi;xccd sel.lmg price, subtract 15 percent of $140 from $140 to get $119. The retailer’s profit (selling
p cost) is $19. Translating the last line of the , we get $19 = (x = 100) x 100, or 19 percent

13. B

Median means middle. In other words,
have the median score. Thinking in ter
chart, whatever score includes the 50t
to the chart, 16 percent of the ninth
percent + 37 percent = 53 percent,
is the median score.

if you put all the ninth graders in order by score, the middle student would
lins of per.ccntiles, the 50th percentile is the middle, so on the ninth grade pie
percentile when you put the scores in order is the median score. According
]}:graders scored l?elow 65, and 37 percent scored between 65 and 69 points. 16
€ 50th percentile, then, falls within the group that received 65-69, s0 65-69

14. A

In 1975 ther 1
e were 1350 + 950 + 625 + 47, or 3,400 students in grades 9 through 12. 3,400 is 35 percent of School

. 35
District X, 50 3400 = — . x 4~
100 **% 9700, so there were 9,700 students.

I5. E

There were 1,200 ninth

graders in 1993, 2
168, scored in the 80_8 5 percent of them, or 300, scored in the 70-79 point range. 14 percent of

9 point ;
point range. The difference between 300 and 168 is 132. (E) is the closest choice.
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16. A
_ _ , . 50-27 23
Use the bowtie method to subtract the numbers in Quantity A. This gives you > = %5 If you bowtie the

375460 _ 435

—— . To compare the two quantities, multiply the fraction in Quantity

fractions in Quantity B, you get 5 625

575

25 for Quantity A, making it the larger value.

2
Aby 52 . This gives you a value of

17 D

Use several ratio boxes on this problem. Because X has 2 parts of a and 3 parts of 4, there are 5 parts total for X, while
Yhas 1 + 2 = 3 parts total. Convert these ratios so that they have the same total, which will allow you to compare
them. Multiply X by 3 and ¥ by 5 so that each have 15 total. The new X's 6 parts @ and 9 parts 4, and the new Yis
5 parts 2 and 10 parts . For solution Z there are 2 parts X, so 3 6 = 18 parts aand 3 x 9 = 27 parts b. There are 11
parts of Y'in Z, so there are 11 x 5 = 55 parts 4 and 11 x 10 = 110 parts 6. Thus, solution Z has 18 + 55 = 73 parts a
and 27 + 110 = 137 parts b, and 73 + 137 = 210 total in the ratio. Because the actual total is 630, which is 210 x 3,

there must be 73 x 3 = 219 parts of z in the final solution of Z.

18. 25

1
'The library has 160 books on Sunday. Monday’s total is 160 — 40, or 120. Tuesday is 120 + (-2- x 40), or 140.

1
Wednesday is 140 + (l x 20) - 20, or 130. Thursday is 130 + 80 + (g x 30), or 215. Friday and Saturday see 65
2

more books leave, so the total for the end of Saturday is 215 - 65 = 150. Note that the asks for Monday, not the first

- (150-120)
Sunday. The percent change from Monday to Saturday is —————— x 100, or 25 percent.
19.. Band D

Use the Average Pie to find that ]ill’s'mean of 3.75 for 8 evaluations gives her a current total of 3.75 x 8 = 39 poin'ts.
Use the Average Pie to find that i she needs an average of 4.0 for 12 scores, she needs 4.0 x 12 = 48 total points. Jill
still needs 48 — 30 = 18 points. Her four remaining scores must total 18 or greater. Only answers (B) and (D) have

a total of at least 18.

CHAPTER 11: GEOMETRY

Geometry Drill (Page 296)
1. A,B,and C
choice can be part of a right triangle. A right triangle has a

i i les
of all the angles of a triangle is 180 degrees, the sum of the other two ang
90-degree angle, and_b;ga::eriz.sl‘;fzmwﬁ choice (A), 20 + 70 = 90 degrees, so these could be the other two angles
fnust ‘eciual '180 I'e 92;;swer cl%oices (B) and (C) also add up to 90 degrees, and so they are correct as well. In choices
in a right triangle.

(D) and (E), the two angles have a sum greater than 90 degrees, so they are incorrect.

You need to check if the two angles in each answer
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. 24

To find the perimeter of the figure, you need to add up all of its external sides. As written, vou're missing the measure
of one side of the rectangle. Because the side of the rectangle is equal to the hypotenuse of the right triangle, use the
triangle to find the missing side. To find the hypotenuse of the right trianglé recognize the common rigght’trian le
(5:12:1%), or use the Pythagorean Theorem (5° + 122 = »2). The missing sides of the rectangle are each 13. "Ihereffre
the perimeter equals 5 + 12 + 17 + 13 + 17 = 64. Answer choice (A) is the perimeter without the missing side of they
rectangle. If you chose answer choice (D), you included in interior side of the rectangle. i

We know that the triangle EFG is equilateral because all three angles are equal. Thar means all of its sides equal 8.

4 ua l l . € are i = =

]

Draw it on your scr i
¥ atch work, and plot the points. Both 2 and & must be positive, but their values could be equal

or unequal. Region I has (+, +) coordinates, Regi 11 - i i i
Region TV has ) s b ) egion I has (~, +) coordinates, Region I1I has (-, -) coordinates, and

There are variables in the answers, so Plug In. If the shorter
8 yards and 7 must be 2 + 8 = 10. The targ
the answers. Answer choice (E)

piece is 2 yards long, then the longer piece is 3(2) +2=
' et answer, the length of the longer piece, is 8. Plug In 10 for T into all of
is the only answer choice that matches your target of 8.

If CD, the radius of the smaller circle, is 3, then the
circle is equal to the radius of the larger circl
circle. The formula for the area of a circle is®
divide by 2 to find 18x.

diameter of the smaller circle is 6. The diameter of the smaller
¢ because the smaller circle touches the center and the edge of the larger
7, 50 the area of the larger circle is 361. To find che area of the semicircle

Because Karl’s turn from due south toduee
the hypotenuse is 25, one le
49 + x* = 625, or x = 24,

ast forms a right angle, you can use in which
i _ ) the Pythagorean theorem, in Wit
gis 7, and the other leg is x. Therefore, you have 7 + »* = 252 Solving for x, you g€t

Circumference of a circle is 2nr, which is

of aside, or 47. Try plugging in val greater than 6 times the radius. Perimeter of a square is 4 times the length

ues for 7, i . -
> and you will see that Quantity A is always greater than Quantity B.

angles Aand B
An equilateral triangle has equal 'd. us. each angle in ¢r iangle ABC is 60°, making this is an equilater al trangle
qual sides and equal angles, so the only possible length of the triangle legs is >-
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10.

11.

12.

Remember the third side rule. The third side of a triangle must be less than the sum of the other two sides of a
triangle, but greater than the difference. That gives us a clear range for x. It must be greater than 6 but less than 12.
Quantity A, therefore, is greater than Quantity B; the answer is (A).

One trick to interpreting geometry problems is to exaggerate whatever is going on in your picture. You can see that
the two triangles are almost the same, except that the base length in the triangle to the right is slightly larger. Well,
what happens as you keep stretching out that base length? The triangle starts to collapse and its height gets smaller
and smaller. Thus, height fmust be greater than height g This technique works quite well in a number of GRE quant

comp geometry problems!

In order to find the x-coordinate of a point on a line, you must first find the slope of the line. Notice that along with
points A and B, the origin is also a point on the line in the figure. Using the coordinates of (0, 0) and 4 (2, 3), the

slope is EL—_}II_; = 5 - Because the slope of a line stays constant, you can use the value you just found to solve for
X X
(4.2-3)
the missing x-coordinate of point B. Using points A2, 3) and B (x, 4.2), solve _2)
find that 3x— 2 = 2.4, so x = 2.8 or choice (B).

3 ,
=5 Cross-multiply to

tio or the Pythagorean theorem to determine that the length of AB is 4. Because the area of a

Usethe3:4:5ra

1 . .
triangle equals % x base x height, triangle ABD has an area of 5% 3 x 4, or 6. Be wary of answer choice (D), which

is the area of the rectangle.

me measure, the wedges of the circle they mark off will have the same area. The

Because the two angles have the sa ' .
so Quantity B is greater than Quantity A.

triangle is smaller than the wedge,

108 = 72. Angle LON is the same fraction

72 1

MNO is a parallelogram and ¢ = 108, angle LON must be 180 - 1
= — . Thus, arc 4 must be — of the

Because L

of the entire circle (360 degrees) that arc dis of the entire circumference, 360

circumference. So 1 %157 = 37 If you were stuck on this problem,
S0,

seele’s ci ce. Thus
about a fourth or fifth of the circles circumferen: J

you could have estimated that 4 looks to be

eliminate answers (A) and (B).
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CHAPTER 12: MATH ET CETERA

Et Cetera Drill (Page 316)

1.

C

If there is one more red marble than blue, there must be 7 blue marbles and 8 red ones, for a total of 15. The probability

# of blue marbles 7

Toul# of mabls’ org - If you selected choice (E), you probably computed the

probability of drawing a red marble rather than the probability of drawing a blue one.

of choosing a blue marble is

Plug the values into the function. First ‘ find ¥(5);
them: ¥(5) - ¥(3) = 49 - 29 = 20, FGHOR G107 = 49, Nexe find 23101 =23 Nowsubras

. ; . ; = X ; = X 9 = 3 X 2 = i ) tllC laI €St Fli
. : ] X . 6 6 X 13. The lal’ges[ Odd f&CtOf 1§ 3 5 g

All'5 finali “Best i g
AT na 1bsts (l:]ould be awarded “Best in Show, There are 4 choices left for “Honorable Mention,” because a different
g must be chosen. Therefore, the total number of possibilities is 5 - 4, or 20 |

Use th ion:
- $90,g()g(;?;ijf‘§5‘;"gbgf°;f’ ‘1h+ Group 2 - Both + Neither = Total. So, $40,000 + $30,000 — $15,000 + Neither
» 922,000 + Neither = $90,000. So, the company spends $35,000 on other products.

Li e
ist out the two-digit prime numbers less than 50: 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, and 47. The numbers in

which the tens digit is uni 4 ossib m
greater than the igi p iti
requirement, choice (B) is correct. its digit are 31, 41, and 43. Because 3 out of the 11 possibilities mect the

Plug In the i ; : .
g answer choices, starting with (C). With 9 seaff members, the elected official has 2! (alternatively, you

5'4!

9x8 '
). Thi b i
1x2 is works out to 36, which is too large. Try plugging in answer choice (A). With7

may have set this up as

staff members, the elecred official h _l .
as e 21 different groups of 5 from which to choose (again, you may have

7X6

set this up the alternative way as —— )
1x2 "
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10.

Plug In: Make x = 2 andy=3.Nowx#y=2(2-3)=-2. Watch out for traps: Answer choices (A) and (C) will give
you -2, but because the asks for x # (x # y), you need to perform the operation again. 2 # (-2) = 2 [2-(=2)]=2(4)=8.
Now put x = 2 and = 3 into the answer choices to find a match for your target answer, 8. Be sure to eliminatc choices
(A), (B), (C), and (D) as soon as you realize they are negative. The only answer that matches is choice (E).

Use a ratio box to find that if there are twice as many yellow as green and 12 total, then there are 8 yellows and 4
greens. Two situations would fir the requirements of the problem: pull out a yellow and then green, or pull out a green
and then yellow. So, find the probability of each of these situations, then add these two probabilities together. The

8§ 4 8 . WLRVL I
probability of yellow and then green is % X I = 3 The probability of green and then yellow is I X 1 = 33

d babiliti ﬁd8+§-'—lé
Add these two probabilities to fin 33733 33

ut it would probably be quite a headache. For Quantity A, if you're creating triangles,

You could try to draw thisall out, b :
blem—order doesn’t matter, because

you're really choosing three points from the set of 10. This is a combination pro

100 10! _10x9x8
triangle ABC would be the same as triangle BCA. You could use the formula: 31010-3)!  347) T 3x2x1
) , 10x9%8 v B - th

= 120. Alternatively, if you used the “make slots” method, you'd have: ——'—‘—3 NPT 120. For Quantity B, note that

quadrilacerals are any four-sided figures, so you're just choosing 4 points from 10. You could use the formula for

binations: 10 . 10 10x9x8x7 - 210. Alternatively, if you used the “make slots” method,
combinations: TN = Gh T 4x3x2x1
10x9x8X7
’ . ———— =210.
you'd have: Aix3%2x]

Comprehensive Math Drill (Page 318)

L.

2.

(0.05)(0.18)
0.05 X 50 0.6x = (0.05)(0.18), and x = T

Cross multiply. ‘6‘6‘ = 0.18

= (0.05)(0.3) = 0.015.

~ The expressions in Quantity A and in Quantity
10

Wi R
— N

I
W R
X

N R
N | =

Simplify the expression in Quantity B:
B are the same.
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?emerﬁber that the percentages for standard deviation s are 34 percent, 14 percent, 2 percent in both directions
ro(rinzt e mean. If the mean is 50, then 34 percent score between 50 and 54, 14 percent score between 54 and 58
an . . . . . i~ ’

percent score above 58. The same idea applies in the other direction: If the mean is 50. then 34 percent score

between 50 and 46, 14 )
o2 e percent score between 46 and 42, and 2 percent score below 42. So, the quantities are both

;fhhe equz'iti?_rll y=mx+b c.lescribes aline where m is the slope and & is the y-intercept—the place where the line crosses
¢ y-axis. Hence, the y-intercept of our line, or P, is (0, 1), which means the length of OPis 1. Because R is on the

x-axis, the y- i : . .
» the y-coordinate must be 0, and we can use the line equation to solve forx: 0 = — > x+ 1 s0-1= 22 x, and
b]

6
x=—_.Th = . .
5 at means OR 5’ and Quantity A is greater. Because this is a Quant Comp, though, we can actually

compare the Quantities wi i i
p Q s without solvmg them. If you recognize from the line equation that our slope is‘% ,and
rise

you remember that slope is defined as — i i i .
v YOU might also recognize that Quantity A, OR, is our run, and Quantity

> & abSOIUR? leuc‘ a“d [llelefcle I
. — nce alwa san

could use the formula: 20 = 20! - M
%19 2!(20-2) 21(18)! 2

- 190. F - o
or S)u'antlty B, the rankings” tells you that order matters: This is a permutation. So,
. 10!

(10-3)! - 71 =10 x 9 x 8 = 720. Alternatively, the “make slots” way would be

= 190. Alternatively, you may have learned the “make

slots” way:

you could use the formula:

10 x 9 x 8 = 720.

f[he denominator is the same for both expressions, so we on}
is greater. Plug In to see whether 4/ s greater than or less

choices (B) and (C). Now let 4

y need to compare numerators to determine which fraction
than 1. Let £ = 0.5 and / =1.5, &/ = 0.75. Eliminate answef
=10and /=10, &/ = 100. Eliminate answer choice (A)

Approximate your values. In Column A, \/3— + \/Z

is greater.

£17+2=37In Column B, \/7 is less than 3, s0 Column A

If Joe starts with $200 and spends $150 on a CD

divide $50 by $12. It goes in 4 player, he only has $200 - $150 = $50 left. Each CD is $12%°

times with $2 left over. Don’t round! Joe can only buy 4.
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9.

For triangle ABC, the base is the difference berween Cand B, 1. Finding the height is a little more dithcult. The
height of a triangle is any perpendicular line dropped from the highest point to the level of the base. The height does
not need to touch segment CB as long as it extends from A to the level of CB. For this triangle, distance from 4 to

1
the origin is the heighr, 4. Plugging In the base and height: Area = E x1x4=2.

10. B,C,and D

1l

To solve this problem, first use PEMDAS: 103? - 2) = 10(9 - 2) = 10(7) = 70. The states that 70 is divided by a

positive integer, so try dividing 70 by different integers. Choices (B), (C) and (D) could work because you can divide
1

70by1,2,and7 respectively. Choice (A) does not work because to get 140, you would have to divide 70 by }: , which

is not an integer. Also, 0 is neither positive not negative, and you cannot divide a number by 0, so choice (E) could

not work either.

Band C

Roberta’s rate is 50 miles in 2 hours. Notice that the first number in this proportion is greater than the second. Use

100 50 . L .
that to eliminate choices (A) and (D). For choice (B), e =% this is the same as the original proportion. For

400

50 . - .
choice (C), — = —, so this is also the same as the original proportion.

16

There were seven cities with higher temperatures in Year ¥: Baltimore, Detroit, Las Vegas, Minneapolis, New York,

Phoenix, and San Francisco.

The lowest average temperature was 34° F in Anchorage, and the highest was 83° F in Las Vegas.

 difference _ _4_9_

Percent change = m 34 = 144 percent.

Years X and ¥, so the number of things is 4. The bar shows the average of
60 by 4 to get the toral, 240. Get the average high temperatures for Years X
he chart. They're about 103 degrees and 97 degrees. The total is 240 =
btract the highs from the total, you're left with 40 degrees as the total
divide this total by 2. The closest answer is 20°.

You're averaging the highs and lows for
Years X and Y, which reads 60. Multiply
and Y from the straight and dotted lines on t
103 + 97 + low Year X + low Year ¥. If you su
for the lows. Because you want the average of the lows,

15. A,B,and C

ng 2 from both sides: |2x — 3| > 5. Now plug each answer choice into the

irst. simpli i lity by subtracti
Firss, simplify the inequd’ 7 ¥ he inequality true. The correct val

inequality to see which value of x makes t
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16.

18.

19.

20.

C

The question states that x is an odd integer, so eliminate choice (C) because 0 is not odd. Simplify x + y+ z<2 by
subtracting z from each side: x + 7<0. Because xis less than y . x must be negative so that when added to 7 the answer
will be less than zero. Therefore, eliminate choices (D) and (E). Now Plug In the remaining answers to see which
value of x will work in the inequality. Choice (A) is the only choice that works.

First, solve for x by multiplying 4 by itself until you get 1024. This means that x equals 5. Substituting 5 for xin the
second equation, the reads, “What is 4° x 5%” Because the answers are expressed in terms of 4", 3", and 10", expand
our4°x 5*toget4d x4 x 4x 4x4x4x5x5x5 x 5. Now try to express it using 10", We need to factor two of the

fours and rewrite thisas 4 x 4 x 4 x 4 x 2 x 2 x 2 x 2x5x5x%x5x5. Now, convert this back into exponents to get
49 % 2% x 5% or 44 x 10,

First, use the volume formula to find the widch: V - Ixwxh. So, 780 = 12 x 1 x 5. Thus. the width is 13. Next,
draw the figure. Notice thar the greatest distance is from one corner to the oppusite corner, such as from the front
left bottom corner diagonally to the rear right top corner. You can use the formula for diagonal of a rectangular solid,
@+ b+ =d? inwhich 4, b, and c are the dimensions of the rectangular solid and  is the diagonal, and love that

you have a calculator. Thus, (5 + (127 + (13 = 42, 50,25+ 144 + 169 = 4+, and thus 4 = V338 or 13‘/5-

There are six spots to fill. Because no boys can sit on the end of the bench, 3 girls are available to fill one spotat
one end of the bench. Once one girl has been chosen to fill that spot, there are 2 girls available to fill the spoton

the other end of the bench, ‘Then, there are 4 children (boys and girls) available to fll the other four spots. Because
3x2x4x3x2x1 =144, choice (D) is correct.

Use the average pie. If 16 is the average of 3 numbers, their total is 48. You know that one of the numbers is 24

$0p+4+24 =48 Thus, (p + ) = 24. You need 1o find 16(p + ¢), so find 16(24). Ballpark that 10(24) = 240 ot
5(24) = 120. Look for an answer a little more than 240 + 120 = 360.
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